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1.	 Answer all questions.
2.	 All questions carry equal marks.
3.	 Only one answer is to be given for each question.
4.	 If more than one answer is marked. it would be treated as the 

wrong answer.
5.	 Each question has five alternative responses marked serially. 

as (1), (2), (3), (4), (5). You have to darken only one circle 
or bubble indicating the correct answer on the Answer Sheet 
using the BLUE BALLPOINT PEN.

6.	 One-third (1/3) of the mark(s) of each question will be 
deducted for each wrong answer. (A wrong answer means 
an incorrect answer or more than one answer for any 
question. Leaving all the relevant circles or bubbles of any 
question blank will not be considered as wrong answer.)

7.	 Mobile Phone or any other electronic gadget in the 
examination hall is strictly prohibited. A candidate found 
with any of such objectionable material with him/her will 
be strictly dealt as per rules.

8.	 Please correctly fill your Roll Number in O.M.R. Sheet 5 
Marks can be deducted for filling wrong or incomplete Roll 
Number.

1-	 lHkh iz'uksa ds mÙkj nhft,A
2-	 lHkh iz'uksa ds vad leku gSaA
3-	 izR;sd iz'u dk dsoy ,d gh mÙkj nhft,A
4-	 ,d ls vfèkd mÙkj nsus dh n'kk esa iz'u ds mÙkj dk xyr 

ekuk tk,xkA
5-	 izR;ad iz'u ds ik¡p oSdfYid mÙkj fn;s x;s gSa] ftUgs 

Øe'k% (1)] (2)] (3)] (4)] (5) vafdr fd;k x;k gS 
vH;FkhZ dks lgh mÙkj fufnZ"V djrs gq, muesa ls dsoy ,d 
xksys vFkok ccy dks mÙkj i=kd ij uhys IokWbaV isu ls 
xgjk djuk gSA

6-	 izR;sd xyr mÙkj ds fy, iz'u dk 1@3 Hkkx dkVk tk;sxkA 
xyr mÙkj ls rkRRi;Z v'kq¼ mÙkj vFkok fdlh Hkh iz'u ds 
,d ls vf/d mÙkj ls gSA fdlh Hkh iz'u ls lacaf/r xksys 
;k ccy dks [kkyh NksM+uk xyr mÙkj ugha ekuk tk;sxkA

7-	 eksckby iQksu vFkok bysDVªkWfud ;a=k dk ijh{kk gkWy esa 
iz;ksx iw.kZr;k oftZr gSA ;fn fdlh vH;FkhZ ds ikl ,slh 
dksbZ oftZr lkekxzh feyrh gS rks mlds fo#¼ laLFkk }kjk 
fu;ekuqlkj dk;Zokgh dh tk;sxhA

8-	 Ñi;k viuk jksy uEcj vks-,e-vkj- i=kd ij lkoèkkuhiwoZd 
lgh HkjsaA xyr vFkok viw.kZ jksy uEcj Hkjus ij 5 vad 
dqy izkIrkadksa esa ls dkVs tk ldrs gSaA
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1.	 Which of the following Rock Edicts of 
Ashoka describes Ashoka’s victory over 
Kalinga and his subsequent conversion to 
Buddhism?
1.	 Rock Edict - II 
2.	 Rock Edict - XII 
3.	 Rock Edict - XIII 
4.	 Rock Edict - XI
5.	 Question not attempted

2.	 Consider the following statements with 
respect to “Orans”:
A.	 These have a rich diversity of traditional 

flora and fauna and water bodies and 
are considered sacred and preserved by 
the locals of Rajasthan.

B.	 These are named after local deities and 
medieval warriors.

C.	 It holds religious and social significance 
as small forest patches in the middle of 
the mighty Thar desert.

Select the correct options : 
1.	 A & B only
2.	 B & C only
3.	 A & C only 
4.	 All are correct 
5.	 Question not attempted

3.	 Which among the following sites in 
Rajasthan provide the earliest evidence for 
domestication of animals ?
1.	 Indragarh 
2.	 Bagor
3.	 Kalibangan
4.	 Ganeshwar
5.	 Question not attempted

4.	 Which portal was developed by the 
Department of Consumer Affairs for fair 
trade and consumer protection? 
1.	 e-Upbhokta
2.	 National Legal Metrology Portal 

(eMaap) 
3.	 National Legal Trade Portal (eTrade) 
4.	 e-Jagriti
5.	 Question not attempted

1.	 fuEufyf•r esa ls v'kksd ds fdl f'kykys• esa 
dfyax ij v'kksd dh fot; vkSj mlds ckn ckS¼ 
èkeZ esa mlds èkekZarj.k dk o.kZu gS\
1.	 f'kykys•&II
2.		 f'kykys•&XII
3.	 f'kykys•&XIII
4.	 f'kykys•&XI
5.	 vuqÙkfjr ç'u

2.	 ¶vksjku¸ ds lacaèk esa fuEufyf•r dFkuksa ij 
fopkj djsa%
A.	 buesa ikjaifjd ouLifr;ksa] tho&tarqvksa vkSj 

ty fudk;ksa dh le`¼ fofoèkrk gS vkSj bUgsa 
jktLFkku ds LFkkuh; yksxksa }kjk ifo=k vkSj 
lajf{kr ekuk tkrk gSA

B.	 budk uke LFkkuh; nsorkvksa vkSj eè;dkyhu 
;ks¼kvksa ds uke ij j•k x;k gSA

C.	 fo'kky Fkkj jsfxLrku ds eè; esa NksVs ou 
{ks=k ds :i esa bldk èkkfeZd vkSj lkekftd 
egRo gSA

	 lgh fodYi pqfu, %
1.	 dsoy A vkSj B
2.	 dsoy B vkSj C
3.	 dsoy A vkSj C
4.	 lHkh lgh gSa
5.	 vuqÙkfjr ç'u

3.	 fuEufyf•r esa ls jktLFkku dk dkSu lk LFky 
i'kqvksa ds ikyrw cuk, tkus dk lcls çkjafHkd 
lk{; çnku djrk gS\
1.	 bUæx<+
2.	 ckxksj
3.	 dkyhcaxk
4.	 x.ks'oj
5.	 vuqÙkfjr ç'u

4.	 miHkksDrk ekeys foHkkx }kjk fu"i{k O;kikj vkSj 
miHkksDrk laj{k.k ds fy, dkSu lk iksVZy fodflr 
fd;k x;k gS\
1.	 bZ&miHkksDrk
2.	 jk"Vªh; fofèkd ekifoKku iksVZy (bZeSi)
3.	 jk"Vªh; dkuwuh O;kikj iksVZy (bZ&VªsM)
4.	 bZ&tkx`fr
5.	 vuqÙkfjr ç'u
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5.	 Match List-I with List-II and select the 
correct answer using the code given below:

List-I 
(Sports Event)

List-II 
(Venue)

A. 34th Summer 
Olympics 
(2028)

i. Italy

B. 20th Asian 
Games (2026)

ii.  Nagoya 
(Japan)

C. 14th Cricket 
World Cup 
(2027)

iii. Los Angeles 
(USA)

D. 25th Winter 
Olympics 
(2026)

iv.  South 
Africa,Namibia 
& Zimbabwe

	 Code:
1.	 A-iii, B-ii, C-iv, D-i
2.	 A-ii, B-iii, C-i, D-iv
3.	 A-iii, B-iv, C-i, D-ii
4.	 A-ii, B-iv, C-iii, D-iv
5.	 Question not attempted

6.	 Suratgarh, Bhadla & Rawatbhata are 
respectively important for : 
1.	 Thermal, Wind & Nuclear power
2.	 Thermal, Solar & Nuclear power
3.	 Hydel, Solar & Nuclear power
4.	 Thermal,Hydel & Nuclear power 
5.	 Question not attempted

7.	 Match List-I with List-II & select the correct 
answer using the code given below :-

List-I (Nuclear Power) List-II (State)
A. Kakrapar Power 

Station 
i. UttarPradesh

B. Narora Power 
Station

ii. Gujarat 

C. Kudankulam 
Power Station 

iii. Tamil Nadu

D. Kaiga Power 
Station 

iv. Karnataka

	 Codes:
1.	 A-ii, B-iv, C-iii, D-i
2.	 A-ii, B-i, C-iii, D-iv
3.	 A-ii, B-i, C-iv, D-iii
4.	 A-iii, B-i, C-ii, D-iv
5.	 Question not attempted

5.	 lwph&I dks lwph&II ls lqesfyr dhft, vkSj uhps 
fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu,%&

lwph&I  
(•sy vk;kstu)

lwph&II  
(LFky)

A. 34oka xzh"edkyhu 
vksyafid (2028) 

i. bVyh

B. 20osa ,f'k;kbZ •sy 
(2026)

ii. ukxks;k (tkiku)

C. 14oka fØdsV fo'o 
di (2027) 

iii. ykWl ,aftYl 
(;w,l,)

D. 25oka 'khrdkyhu 
vksyafid (2026)

iv. nf{k.k vÚhdk] 
ukehfc;k vkSj 
ftEckCos

	 dksM %
1.	 A&iii] B&ii] C&iv] D&i
2.	 A&ii] B&iii] C&i] D&iv
3.	 A&iii] B&iv] C&i] D&ii
4.	 A&ii] B&iv] C&iii] D&iv
5.	 vuqÙkfjr ç'u

6.	 lwjrx<+] HkM+yk vkSj jkorHkkVk Øe'k% fdlds 
fy, egRoiw.kZ gSa\
1.	 rkih;] iou ,oa ijek.kq ÅtkZ
2.	 rkih;] lkSj ,oa ijek.kq ÅtkZ
3.	 tyfo|qr] lkSj ,oa ijek.kq ÅtkZ
4.	 rkih;] tyfo|qr ,oa ijek.kq ÅtkZ
5.	 vuqÙkfjr ç'u

7.	 lwph&I dks lwph&II ls lqesfyr dhft, vkSj uhps 
fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu,%&

lwph&I (ijek.kq ÅtkZ) lwph&II (jkT;)

A. dkdjkikj ikoj LVs'ku i. mÙkj çns'k

B. ujksjk ikoj LVs'ku ii. xqtjkr
C. dqMudqye ikoj LVs'ku iii. rfeyukMq
D. dSxk ikoj LVs'ku iv. dukZVd

	 dksM%
1.	 A&ii] B&iv] C&iii] D&i
2.	 A&ii] B&i] C&iii] D&iv
3.	 A&ii] B&i] C&iv] D&iii
4.	 A&iii] B&i] C&ii] D&iv
5.	 vuqÙkfjr ç'u
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8.	 Choose the incorrect option based on 
the State-wise (Location based) installed 
capacity of Renewable Power ( as on 
31.10.2024).
1.	 Rajasthan,Gujarat & Tamil Nadu are 

the top three states with highest solar 
power installations.

2.	 Rajasthan, Gujarat & Karnataka are 
the top three states with highest wind 
power installations.

3.	 Rajasthan,Gujarat & Tamil Nadu are 
the top three states with highest total 
Renewable power installations.

4.	 India's total renewable energy installed 
capacity increased by a staggering 24.2 
GW (13.5%) in a year, reaching 203.18 
GW in October 2024.

5.	 Question not Attempted

9.	 Match List-I with List-II and select the 
correct answer from the code given below 
the lists.

List-I 
(Lakes of Rajasthan)

List-II 
(Location)

A. Gadsisar Lake i. Jodhpur
B. Balsamand Lake ii. Jaisalmer
C. Gaib Sagar Lake iii. Dungarpur
D. Siliserh Lake iv. Alwar

	 Code:
1.	 A-ii, B-i, C-iii, D-iv
2.	 A-i, B-ii, C-iii, D-iv
3.	 A-ii, B-i, C-iv, D-iii
4.	 A-i, B-ii, C-iii, D-iv
5.	 Question not attempted

10.	 Which one of the following is incorrectly 
matched in terms of Leading Producers of 
Crops?
1.	 Assam – Jute
2.	 Uttar Pradesh – wheat
3.	 Kerala – Rubber 
4.	 Gujarat – Groundnut
5.	 Question not attempted

11.	 Which group refers to the dependent 
population in the population pyramid?
1.	 0-14 Years 
2.	 15-59
3.	 Over 60 years 

8.	 uohdj.kh; ÅtkZ dh jkT;okj (LFkku vkèkkfjr) 
LFkkfir {kerk (31-10-2024 rd ds vkèkkj ij 
xyr fodYi pqfu,&
1.	 jktLFkku] xqtjkr vkSj rfeyukMq lokZfèkd 

lkSj ÅtkZ LFkkiuk okys 'kh"kZ rhu jkT; gSaA
2.	 jktLFkku] xqtjkr vkSj dukZVd lokZfèkd 

iou ÅtkZ LFkkiuk okys 'kh"kZ rhu jkT; gSaA
3.	 jktLFkku] xqtjkr vkSj rfeyukMq lcls 

vfèkd dqy uohdj.kh; ÅtkZ çfr"Bkuksa okys 
'kh"kZ rhu jkT; gSaA

4.	 Hkkjr dh dqy uohdj.kh; ÅtkZ LFkkfir 
{kerk ,d o"kZ esa 24-2 xhxkokV (13-5») 
dh vk'p;Ztud o`f¼ ds lkFk vDVwcj 
2024 esa 203-18 xhxkokV rd igqap x;hA

5.	 vuqÙkfjr ç'u

9.	 lwph&I dks lwph&II ls lqesfyr dhft, vkSj 
lwfp;ksa ds uhps fn, x, dwV ls lgh mÙkj pqfu,A

lwph&I  
(jktLFkku dh >hysa)

lwph&II  
(LFkku)

A. xM+lhlj >hy i. tksèkiqj

B. ckylean >hy ii. tSlyesj
C. xSc lkxj >hy iii. Mwaxjiqj
D. flfyls<+ >hy iv. vyoj

	 dksM %
1.	 A&ii] B&i] C&iii] D&iv
2.	 A&i] B&ii] C&iii] D&iv
3.	 A&ii] B&i] C&iv] D&iii
4.	 A&i] B&ii] C&iii] D&iv
5.	 vuqÙkfjr ç'u

10.	 iQlyksa ds vxz.kh mRikndksa ds lanHkZ esa fuEufyf•r 
esa ls dkSu lk feyku xyr gS\
1.	 vle – twV
2.	 mÙkj çns'k – xsgw¡
3.	 dsjy – jcj
4.	 xqtjkr – ewaxiQyh
5.	 vuqÙkfjr ç'u

11.	 tula[;k fijkfeM esa fdl lewg dks vkfJr 
tula[;k dgk tkrk gS\
1.	 0&14 o"kZ
2.	 15&59
3.	 60 o"kZ ls vfèkd
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4.	 Both 1 & 3 
5.	 Question not attempted

12.	 Which of the following is correct with 
reference to Religious Composition of 
Rajasthan (2011 Census) : 
1.	 Hindu, followed by Muslim, Sikh, Jain, 

Christian, and Buddhist communities 
resepectively. 

2.	 Hindu, followed by Muslim, Jain,Sikh, 
Christian, and Buddhist communities 
resepectively. 

3.	 Hindu, followed by Muslim, Jain,Sikh, 
Buddhist and Christian communities 
resepectively. 

4.	 Hindu, followed by Muslim,Sikh, Jain, 
Buddhist and Christian communities 
resepectively.

5.	 Question not attempted

13.	 Which is called ‘The Pitcher of Thar’ or 
‘Thar Ka Ghada’?
1.	 Chandan tube well
2.	 Mandal tube well
3.	 Saline tube well
4.	 Freshwater tube well
5.	 Question not Attempted

14.	 Which one of the following statements is 
incorrect in terms of Leading Producers of 
Minerals ?
1.	 Rajasthan is the third-largest producer 

of lignite and accounts for the entire 
production of lead and zinc concentrate 
during the fiscal year 2023-24.

2.	 More than 99% of India's gold 
production comes from the state of 
Karnataka.

3.	 Rajasthan is the largest reserve holder 
and producer of copper in India.

4.	 Madhya Pradesh is the sole producer of 
diamonds in India.

5.	 Question not attempted

15.	 In Rajasthan, What is meant by Moomal, 
Jhorawa, Ghudla, and Jeero?
1.	 Famous Dances of Mewar
2.	 Famous songs of Mewar
3.	 Famous Dances of Marwar

4.	 1 vkSj 3 nksuksa

5.	 vuqÙkfjr ç'u

12.	 jktLFkku dh èkkfeZd lajpuk (2011 dh tux.kuk) 
ds lanHkZ esa fuEufyf•r esa ls dkSu lk dFku lgh 
gS%

1.	 fganqvksa ds ckn Øe'k% eqfLye] fl•] tSu] 

bZlkbZ vkSj ckS¼ leqnk; vkrs gSaA

2.	 fganqvksa ds ckn Øe'k% tSu] fl•] bZlkbZ vkSj 

ckS¼ leqnk; vkrs gSaA 

3.	 fganqvksa ds ckn Øe'k% eqfLye] tSu] fl•] 

ckS¼ vkSj bZlkbZ leqnk; vkrs gSaA 

4.	 fganqvksa ds ckn Øe'k% eqfLye] fl•] tSu] 

ckS¼ vkSj bZlkbZ leqnk; vkrs gSaA 

5.	 vuqÙkfjr ç'u

13.	 ^Fkkj dk ?kM+k* fdls dgk tkrk gS\

1.	 pkanu VÔwcosy

2.	 eaMy VÔwcosy

3.	 •kjk uydwi

4.	 ehBs ikuh dk VÔwcosy

5.	 vuqÙkfjr ç'u

14.	 •futksa ds vxz.kh mRikndksa ds lanHkZ esa fuEufyf•r 
esa ls dkSu lk dFku xyr gS\

1.	 jktLFkku fyXukbV dk rhljk lcls cM+k 

mRiknd gS vkSj foÙkh; o"kZ 2023&24 ds 

nkSjku lhlk vkSj lkaæ.k tLrk ds laiw.kZ 

mRiknu ds fy, ftEesnkj gSA

2.	 Hkkjr dk 99» ls vfèkd lksuk mRiknu 

dukZVd jkT; ls vkrk gSA

3.	 jktLFkku Hkkjr esa rkacs dk lcls cM+k HkaMkj 

èkkjd vkSj mRiknd gSA

4.	 eè; çns'k Hkkjr esa ghjs dk ,dek=k mRiknd 

gSA

5.	 vuqÙkfjr ç'u

15.	 jktLFkku esa ewey] >ksjok] ?kqM+yk vkSj thjks ls 
D;k rkRi;Z gS\
1.	 esokM+ ds çfl¼ u`R;
2.	 esokM+ ds çfl¼ xhr
3.	 ekjokM+ ds çfl¼ u`R;
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4.	  Famous songs of Marwar
5.	 Question not attempted

16.	 Choose the correct option in reference 
with India’s first indigenously developed 
antibiotic targeting Anti-Microbial 
Resistance (AMR)?
1.	 Nafithromycin is India’s first 

indigenous Macrolide antibiotic. 
2.	 It is developed by Wockhardt & 

marketed as "Miqnaf," with support 
from BIRAC.

3.	 It targets Community-Acquired 
Bacterial Pneumonia (CABP) caused 
by drug-resistant bacteria, which 
disproportionately affects vulnerable 
populations such as children, the 
elderly, and those with compromised 
immune systems.

4.	 All are correct 
5.	 Question not attempted

17.	 Which of the following statements are 
correct regarding Graphene ?
1.	 It is stronger than steel & a good 

conductor of heat & electricity.
2.	 It does not oxidise in air or in biological 

fluid, making it attractive material for 
use as a biosensor.

3.	 Both of the above are Correct
4.	 None 
5.	 Question not attempted

18.	 Which countries participated in bilateral 
Air Force exercise ‘Udara Shakti 2024’?
1.	 China & Japan
2.	 India & Myanmar
3.	 India & Malaysia
4.	 India & Australia
5.	 Question not attempted

19.	 Match List-I with List-II with reference to 
the Major dynasties of the Sangam period & 
their Capitals & the symbols.

List-I 
(Dynasty)

List-II 
(Capital & Symbol)

A. Cheras i. Uraiyur & Tiger
B. Cholas ii. Vanji & (Bow-Arrow)
C. Pandyas iii. Madurai & Fish 

4.	 ekjokM+ ds çfl¼ xhr
5.	 vuqÙkfjr ç'u

16.	 jksxk.kqjksèkh çfrjksèk (Anti&Microbial Resistance 
&AMR) dks yf{kr djus okys Hkkjr ds igys 
Lons'kh :i ls fodflr ,aVhck;ksfVd ds lanHkZ esa 
lgh fodYi pqfu,\
1.	 uSfiQFkzksekbflu Hkkjr dk igyk Lons'kh 

eSØksykbM ,aVhck;ksfVd gSA
2.	 bls okWdgkVZ }kjk fodflr fd;k x;k gS 

vkSj BIRAC ds lg;ksx ls ¶feDukiQ¸ 
(Miqnaf) ds :i esa foi.ku fd;k x;k gSA

3.	 ;g nok çfrjksèkh cSDVhfj;k ds dkj.k gksus 
okys lkeqnkf;d&vfèkxzfgr thok.kqtfur 
fueksfu;k (CABP) dks yf{kr djrk gS] tks 
cPpksa] cqtqxks± vkSj detksj çfrj{kk ç.kkyh 
okys yksxksa tSls detksj vkcknh dks vleku 
:i ls çHkkfor djrk gSA

4.	 lHkh lgh gSa
5.	 vuqÙkfjr ç'u

17.	 xzkiQhu ds lacaèk esa fuEufyf•r esa ls dkSu ls 
dFku lgh gSa\
1.	 ;g LVhy ls vfèkd etcwr gS vkSj Å"ek 

vkSj fctyh dk vPNk lqpkyd gSA
2.	 ;g gok ;k tSfod rjy inkFkZ esa vkWDlhÑr 

ugha gksrk] ftlls ;g ck;kslsalj ds :i esa 
mi;ksx ds fy, vkd"kZd lkexzh cu tkrh gSA

3.	 mi;ZqDr nksuksa lgh gSa
4.	 dksbZ ugha
5.	 vuqÙkfjr ç'u

18.	 f}i{kh; ok;q lsuk vH;kl ^mnkj 'kfDr 2024* esa 
fdu ns'kksa us Hkkx fy;k\
1.	 phu vkSj tkiku
2.	 Hkkjr vkSj E;kaekj
3.	 Hkkjr vkSj eysf'k;k
4.	 Hkkjr vkSj vkWLVªsfy;k
5.	 vuqÙkfjr ç'u

19.	 laxe dky ds çeq• jktoa'kksa] mudh jktèkkfu;ksa 
vkSj çrhdksa ds lanHkZ esa lwph&I dks lwph&II ls 
lqesfyr dhft,A

lwph&I  
(jktoa'k)

lwph&II  
(jktèkkuh vkSj çrhd

A. psj i. mjS;wj vkSj Vkbxj

B. pksy ii. oath vkSj (èkuq"k&ck.k)
C. ikaMÔ iii. enqjS vkSj eNyh
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	 Select the correct answer from the code : 
1.	 A-ii, B-i, C-iii
2.	 A-i, B-ii, C-iii
3.	 A-iii, B-i, C-ii
4.	 A-ii, B-iii, C-i
5.	 Question not attempted

20.	 Akbar and Chandragupta Maurya 
had Navratnas, Krishnadevaraya 
had Ashtadiggajas, and Shivaji had 
Ashtapradhan. Who had Pancharatnas or 
five gems in his court ?
1.	 Rani Chennamma
2.	 Raja Vidhyadhar
3.	 Mahmud Begada
4.	 Lakshamana Sena
5.	 Question not attempted

21.	 Which of the following statements regarding 
the Iqta system during medieval India is/are 
Correct: 
1.	 An Iqta was an Islamic tax farming 

practice that spread throughout Muslim 
Asia during the Buyid dynasty

2.	 Wali or Muqti were the holders of iqta 
in India during the medieval period.

3.	 Iltutmish used to assign “small iqtas” 
to the soldiers in lieu of salaries.

4.	 All are correct
5.	 Question not attempted

22.	 Which of the following pairs with reference 
to administration of Delhi Sultanate is/are 
correct ?

Important 
officials

Primary function

1. Wazir Dealing with religious 
matters 

2. Quazi/Qazi Manages all 
communication 
between the ruler and 
officials 

3. Barid-i-
Mumalik 

Management of public 
works 

4. Patwari Maintenance of Village 
revenue records 

5. Question not attempted

	 uhps fn, x, dksM ls lgh mÙkj pqusa%
1.	 A&ii] B&i] C&iii
2.	 A&i] B&ii] C&iii
3.	 A&iii] B&i] C&ii
4.	 A&ii] B&iii] C&i
5.	 vuqÙkfjr ç'u

20.	 vdcj vkSj paæxqIr ekS;Z ds ikl uojRu Fks] 
Ñ".knsojk; ds ikl v"VfnXxt Fks] vkSj f'kokth 
ds ikl v"Vçèkku FksA fdlds njckj esa iapjRu 
;k ik¡p jRu Fks\
1.	 jkuh psuEek
2.	 jktk fo|kèkj
3.	 egewn csxnk
4.	 y{e.k lsuk
5.	 vuqÙkfjr ç'u

21.	 eè;dkyhu Hkkjr ds nkSjku bDrk ç.kkyh ds lacaèk 
esa fuEufyf•r esa ls dkSu lk dFku lgh gS@gSa%
1.	 bDrk ,d bLykeh dj olwyus dh çFkk Fkh 

tks cqbZn jktoa'k ds nkSjku iwjs eqfLye ,f'k;k 
esa iQSy xbZ Fkh

2.	 eè;dky ds nkSjku Hkkjr esa bDrk ds èkkjd 
oyh ;k eqfDr FksA

3.	 bYrqrfe'k osru ds cnys lSfudksa dks ¶NksVs 
bDrk¸ nsrk FkkA

4.	 lHkh lgh gSa
5.	 vuqÙkfjr ç'u

22.	 fnYyh lYrur ds ç'kklu ds lanHkZ esa fuEufyf•r 
esa ls dkSu lk@ls ;qXe lgh gS@gSa \

egRoiw.kZ 
vfèkdkjh 

çkFkfed dk;Z

1. othj èkkfeZd ekeyksa ls fuiVuk

2. dkth@dkth 'kkld vkSj vfèkdkfj;ksa 
ds chp lHkh lapkj dk 
çcaèku djrk gS

3. cjhn&,& 
eqekfyd

lkoZtfud dk;ks± dk 
çcaèku

4. iVokjh xkao ds jktLo vfHkys•ksa 
dk j•j•ko

5.  vuqÙkfjr ç'u
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23.	 Consider the following statements about 
Mansabdari system:
A.	 Akbar strengthened his control on the 

nobility and the army by introducing 
the Mansabdari system.

B.	 Personnel of Army & Civil Services of 
Mughals were allotted mansabs on the 
basis of ancestry.

C.	 In the Mansabdari system, ranks were 
divided into Zat and Sawar.

D.	 Position and salary of mansabdars were 
indicated by a numerical designation 
called Zat.

	 Which of the above given statements is/are 
correct?
1.	 A & B Only
2.	 B & C Only 
3.	 A, C & D Only 
4.	 All are correct 
5.	 Question not attempted

24.	 Match List-I with List-II with reference 
to the various taxes imposed by Delhi 
Sultanates

(List-I)  
Taxes

 (List-II)  
Description

A. Kharaj i. Land tax 
B. Zakat ii. Property tax 
C. Khams iii. Irrigation tax 
D. Haqq-i sharb iv. War booty tax

	 Select the correct answer from the code: 
1.	 A-ii, B-i, C-iii, D-iv
2.	 A-i, B-ii, C-iii, D-iv
3.	 A-iii, B-i, C-ii, D-iv
4.	 A-i, B-ii, C-iv, D-iii
5.	 Question not attempted

25.	 Which one among the following was/were 
the motive/motives behind Mohammad 
Tughlaq’s transfer of capital from Delhi to 
Daulatabad? 
A.	 The shift to Daulatabad would give 

him a chance to establish control over 
Deccan and Gujarat. 

B.	 It would provide access to the Western 
and Southern ports. 

23.	 eulcnkjh ç.kkyh ds ckjs esa fuEufyf•r dFkuksa 
ij fopkj dhft,%
A.	 vdcj us eulcnkjh ç.kkyh 'kq: djds 

dqyhu oxZ vkSj lsuk ij viuk fu;a=k.k 
etcwr fd;kA

B.	 eqxyksa dh lsuk vkSj flfoy lsokvksa ds 
dkfeZdksa dks oa'k ds vkèkkj ij eulc 
vkoafVr fd, tkrs FksA

C.	 eulcnkjh ç.kkyh esa jSadksa dks tkr vkSj 
lokj esa foHkkftr fd;k x;k FkkA

D.	 eulcnkjksa dh fLFkfr vkSj osru dks la[;kRed 
inuke ^tkr* }kjk n'kkZ;k tkrk FkkA

	 mi;ZqDr esa ls dkSu lk@ls dFku lgh gS@gSa\
1.	 dsoy A vkSj B
2.	 dsoy B vkSj C
3.	 dsoy A] C vkSj D
4.	 lHkh lgh gSa
5.	 vuqÙkfjr ç'u

24.	 fnYyh lYrur }kjk yxk, x, fofHkUu djksa ds 
lanHkZ esa lwph&I dks lwph&II ls lqesfyr dhft,A

(lwph&I)  
dj 

(lwph&II) 
fooj.k

A. •jkt i. Hkwfe dj

B. tdkr ii. laifÙk dj
C. •kEl iii. flapkbZ dj
D. gDd&, 'kjc iv. ;q¼ ywV dj

	 uhps fn, x, dksM ls lgh mÙkj pqusa%
1.	 A&ii] B&i] C&iii] D&iv
2.	 A&i] B&ii] C&iii] D&iv
3.	 A&iii] B&i] C&ii] D&iv
4.	 A&i] B&ii] C&iv] D&iii
5.	 vuqÙkfjr ç'u

25.	 fuEufyf•r esa ls dkSu lk@ls ,d] eksgEen rqxyd 

}kjk jktèkkuh dks fnYyh ls nkSyrkckn LFkkukarfjr 

djus ds ihNs dk mís'; Fkk@Fks\

A.	 nkSyrkckn esa LFkkukarfjr gksus ls mls nDdu 

vkSj xqtjkr ij fu;a=k.k LFkkfir djus dk 

ekSdk feyrk 

B.	 ;g if'peh vkSj nf{k.kh canjxkgksa rd igqap 

çnku djrk 
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C.	 It would protect him from direct 
Mongol invasions from the North-
Western frontier. 

	 Select the correct answer using the codes 
given below: 
1.	 A and B only 
2.	 B and C only 
3.	 A and C only 
4.	 All are correct
5.	 Question not attempted

26.	 Which of the following statements with 
reference to the Vernacular Press Act, 1878 
is/are correct ?
A.	 The district magistrate was empowered 

to call upon the printer and publisher 
of any vernacular newspaper to enter 
into a bond with the government 
undertaking not to cause disaffection 
against the government.

B.	 The magistrate’s action was final, and 
no appeal could be made in a court of 
law. 

C.	 To escape from the provisions of the 
Vernacular Press Act “Amrita Bazar 
Patrika” turned overnight into an 
English newspaper. 

D.	 It was finally repealed by Lord Curzon 
in 1901.

1.	 A & B Only 
2.	 A, B & C
3.	 A & C Only
4.	 All are Correct
5.	 Question not attempted

27.	 Which of the following is/are 
characteristic(s) of the debate between 
‘Anglicists’ and ‘Orientalists’ in the 1830s? 
A.	 The Anglicists wanted to cut the money 

being spent on printing Sanskrit and 
Arabic texts. 

B.	 The Orientalists wanted a stipend for 
the students of Arabic and Sanskrit. 

C.	 The Orientalists started a new Sanskrit 
College in Benaras. 

C.	 ;g mls mÙkj&if'peh lhek ls gksus okys 

çR;{k eaxksy vkØe.kksa ls cpkrk 

	 uhps fn, x, dksM dk mi;ksx djds lgh mÙkj 

pqfu,%

1.	 dsoy A vkSj B
2.	 dsoy B vkSj C
3.	 dsoy A vkSj C
4.	 lHkh lgh gSa

5.	 vuqÙkfjr ç'u

26.	 oukZD;wyj çsl ,DV] 1878 ds lanHkZ esa fuEufyf•r 

esa ls dkSu lk@ls dFku lgh gS@gSa \

A.	 ftyk eftLVªsV dks fdlh Hkh LFkkuh; Hkk"kk 

ds lekpkj i=k ds eqæd vkSj çdk'kd dks 

ljdkj ds lkFk ,d ckaM ij gLrk{kj djus 

ds fy, dgus dk vfèkdkj fn;k x;k] ftlesa 

ljdkj ds f•ykiQ vlarks"k iSnk u djus dk 

opu fn;k x;k FkkA

B.	  eftLVªsV dh dkjZokbZ vafre Fkh] vkSj fdlh 

vnkyr esa vihy ugha dh tk ldrh FkhA

C.	  oukZD;wyj çsl ,DV ds çkoèkkuksa ls cpus ds 

fy, ¶ve`r cktkj if=kdk¸ jkrksajkr vaxzsth 

v•ckj esa cny xbZA

D.	 bls varr% 1901 esa ykWMZ dtZu }kjk fujLr 

dj fn;k x;kA

1.	 dsoy A vkSj B
2.	 A] B vkSj C
3.	 dsoy A vkSj C
4.	 lHkh lgh gSa

5.	 vuqÙkfjr ç'u

27.	 fuEufyf•r esa ls dkSu lh 1830 ds n'kd esa 
^,afXyflLV* (vkaXyoknh) vkSj ^vksfj,aVfyLV* 
(çkP;fo|koknh) ds chp cgl dh fo'ks"krk gS\
A.	 vkaXyoknh laLÑr vkSj vjch xzaFkksa ds eqæ.k 

ij •pZ gksus okys èku esa dVkSrh djuk pkgrs FksA
B.	 çkP;fo|koknh vjch vkSj laLÑr ds Nk=kksa ds 

fy, othiQk pkgrs FksA
C.	 çkP;okfn;ksa us cukjl esa ,d u;k laLÑr 

egkfo|ky; 'kq: fd;kA
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	 Select the correct answer using the code 
given below : 
1.	 A & B only 
2.	 A, B & C
3.	 B & C Only 
4.	 A & C only 
5.	 Question not attempted

28.	 Who among the following leaders 
participated in all three Round Table 
Conferences (RTCs) convened by the 
British government between 1930 and 
1932?
A.	 B.R. Ambedkar 
B.	 Tej Bahadur Sapru 
C.	 Mohammad Ali Jinnah 
D.	 Madan Mohan Malaviya
E.	 Begum Jahanara Shahnawaz
Options: 
1.	 Only A, B, C & D
2.	 Only A, C, D & E
3.	 Only A, B & E 
4.	 All participated
5.	 Question not attempted

29.	 She was associated with the reformist 
movement of Brahmo Samaj & founded 
Arya Mahila Samaj to promote the education 
of women. She also authored a book titled 
''The High Caste Hindu Woman''. In 1889, 
She founded Sharada Sadan to educate 
young and widow women. The British 
government presented her with the Kaiser-
i-Hind medal in 1919.
The above Passage refers to : 
1.	 Sarla Devi Chaudhrani 
2.	 Margaret Cousins 
3.	 Pandita Ramabai Saraswati 
4.	 Ramabai Ranade
5.	 Question not attempted

30.	 Which one of the following privileges was 
provided to the rulers of princely states for 
acceding to India after independence?
1.	 Territorial autonomy over their 

territories for a temporary period. 
2.	 The appointment of all rulers as 

governors of their respective states.
3.	 A payment to royal families for their 

agreement to merge with India. 

	 uhps fn, x, dksM dk mi;ksx djds lgh mÙkj 
pqusa%
1.	 dsoy A vkSj B
2.	 A] B vkSj C
3.	 dsoy B vkSj C
4.	 dsoy A vkSj C
5.	 vuqÙkfjr ç'u

28.	 fuEufyf•r usrkvksa esa ls fdlus 1930 vkSj 1932 
ds chp fczfV'k ljdkj }kjk vk;ksftr lHkh rhu 
xksyest lEesyuksa (RTCs) esa Hkkx fy;k Fkk\
A.	  ch-vkj- vacsMdj
B.	  rst cgknqj lçw
C.	  eksgEen vyh ftUuk
D.	  enu eksgu ekyoh;
E.	 csxe tgk¡vkjk 'kkguokt

	 fodYi%
1.	 dsoy A] B] C & D
2.	 dsoy A] C] D & E
3.	 dsoy A] B & E 
4.	 lHkh us Hkkx fy;k
5.	 vuqÙkfjr ç'u

29.	 og czã lekt ds lqèkkjoknh vkanksyu ls tqM+h Fkha 
vkSj mUgksaus efgykvksa dh f'k{kk dks c<+kok nsus ds 
fy, vk;Z efgyk lekt dh LFkkiuk dhA mUgksaus 
¶n gkbZ dkLV fganw oqeu¸ uked ,d iqLrd 
Hkh fy•hA 1889 esa] mUgksaus ;qok vkSj foèkok 
efgykvksa dks f'kf{kr djus ds fy, 'kkjnk lnu 
dh LFkkiuk dhA fczfV'k ljdkj us mUgsa 1919 esa 
dSlj&,&fgan ind çnku fd;kA

	 mijksDr vuqPNsn lanfHkZr djrk gS%
1.	 ljyk nsoh pkSèkjkuh
2.	 ekxZjsV dftUl
3.	 iafMrk jekckbZ ljLorh
4.	 jekckbZ jkukMs
5.	 vuqÙkfjr ç'u

30.	 Lora=krk ds ckn Hkkjr esa foy; ds fy, fj;klrksa 
ds 'kkldksa dks fuEufyf•r esa ls dkSu lk 
fo'ks"kkfèkdkj çnku fd;k x;k Fkk\
1.	 vLFkk;h vofèk ds fy, vius {ks=kksa ij {ks=kh; 

Lok;ÙkrkA
2.	 lHkh 'kkldksa dks vius&vius jkT;ksa dk 

jkT;iky fu;qDr djukA
3.	 Hkkjr esa foy; ds fy, jktlh ifjokjksa dks 

nh tkus okyh jkf'kA
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4.	 Membership for rulers to the upper 
house of parliament.

5.	 Question not attempted
31.	 Statement: The famous book 

‘Kuvalayamala’ is a Prakrit-language novel 
written by Jain monk Uddyotana-suri in 
779 CE during the time of Vatsaraja.

	 Reason: It was composed in the temple of 
Adinatha (construed by Virbhadra in the 
town of Jabalipura (Jalor.)
1.	 Both (A) & (R) are individually true 

but (R) is not the correct explanation 
of (A).

2.	 Both (A) & (R) are individually true and 
(R) is the correct explanation of (A).

3.	 (A) is True but (R ) is false 
4.	 (A) is False but (R ) is True 
5.	 Question not Attempted

32.	 Which of the following sites are associated 
with the iron age in Rajasthan ?
A.	 Gilund
B.	 Noh
C.	 Ganeshwar
D.	 Sunari
E.	 Bhinmal

	 Choose the correct answer from the 
following : 
1.	 Only A & C
2.	 Only A, B, C & D
3.	 Only B, D & E
4.	 All are correct 
5.	 Question not attempted

33.	 Who referred to the Battle of Haldighati as 
the 'Battle of Khamnaur'?
1.	 Badauni
2.	 James Tod
3.	 Abul Fazl
4.	 Jagannath Kachhawaha
5.	 Question not attempted

34.	 Match List-I with List-II

List-I 
(King)

List-II  
(Court Scholar)

A. Arnoraj i. Dharma Ghosh
B. Vigraharaja IV ii. Somdev
C. Hammir Dev iii. Kavi Vijayaditya
D. Prithviraj III iv. Chandbardai

4.	 'kkldksa ds fy, laln ds Åijh lnu dh 
lnL;rkA

5.	 vuqÙkfjr ç'u
31.	 dFku% çfl¼ iqLrd ^dqoy;ekyk* oRljkt ds 

le; 779 bZLoh esa tSu fHk{kq m|ksru&lwjh }kjk 
fyf•r ,d çkÑr Hkk"kk dk miU;kl gSA

	 dkj.k & bldh jpuk vkfnukFk ds eafnj (tkykSj 
'kgj esa ohjHkæ }kjk fufeZr) esa dh xbZ FkhA
1.	 (A) ,oa (R) nksuksa vyx&vyx lR; gSa 

ysfdu (R)] (A) dk lgh Li"Vhdj.k ugha gSA
2.	 (A) ,oa (R) nksuksa vyx&vyx lR; gSa vkSj 

(R)] (A) dk lgh Li"Vhdj.k gSA
3.	 (A) lR; gS ysfdu (R) vlR; gS
4.	 (A) vlR; gS ysfdu (R) lR; gS
5.	 vuqÙkfjr ç'u

32.	 fuEufyf•r esa ls dkSu lk LFky jktLFkku esa ykSg 
;qx ls tqM+k gqvk gS\
A.	 fxyqan 
B.	 uksg
C.	 x.ks'oj
D.	 lqukjh
E.	 Hkhuey

	 fuEufyf•r esa ls lgh mÙkj pqusa%
1.	  dsoy A & C 
2.	 dsoy A] B] C & D
3.	 dsoy B] D & E
4.	 lHkh lgh gSa
5.	 vuqÙkfjr ç'u

33.	 gYnh?kkVh ds ;q¼ dks ^•eukSj dk ;q¼* fdlus 
dgk Fkk\
1.	 cM+kSuh
2.	 tsEl VkWM
3.	 vcqy iQty
4.	 txUukFk dNokgk
5.	 vuqÙkfjr ç'u

34.	  lwph&I dks lwph&II ls lqesfyr djsa

lwph&I 
(jktk) 

(lwph&II) 
(njckjh fo}ku)

A. vukZsjkt i. èkeZ ?kks"k

B. foxzgjkt prqFkZ ii. lksenso

C. gEehj nso iii. dfo fot;kfnR;

D. i`Fohjkt r`rh; iv. pancjnkb
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	 Select the Correct Code mentioned below : 
1.	 A-ii, B-i, C-iii, D-iv
2.	 A-i, B-ii, C-iii, D-iv
3.	 A-ii, B-iii, C-i, D-iv
4.	 A-iii, B-ii, C-i, D-iv
5.	 Question not attempted

35.	 Given below are two statements: 

	 Statement (I): Bairath is situated in Jaipur 
district. It has been a very developed place 
during various eras. 

	 Statement (II): It was the capital Matsya 
Region during theMahabharata period. 
Stone plaques of samrat Ashoka’s period 
have also been found. 

	 In light of the above statements, choose the 
most appropriate answer from the options 
given below. 
1.	 Both Statement (I) and Statement (II) 

are correct. 
2.	 Both Statement (I) and Statement (II) 

are incorrect. 
3.	 Statement (I) is correct but Statement 

(II) is incorrect. 
4.	 Statement (I) is incorrect but Statement 

(II) is correct. 
5.	 Question not attempted

36.	 Overwhelmed by the beauty of which of the 
following forts did British Historian James 
Tod say that - if he was offered a jagir in 
Rajasthan, he would choose that fort ?
1.	 Taragarh Fort
2.	 Chittorgarh Fort 
3.	 Bhainsrorgarh Fort 
4.	 Nahargarh Fort 
5.	 Question not attempted

37.	 Given below are two statements : 

	 Statement (I): Dadudayal (Kabir of 
Rajasthan) was born on Phalgun Shukla 
Navmi in 1542 AD in Naraina, near Jaipur.

	 Statement (II): Dadu gave his teachings on 
Brahma, Jiva, Jagat and Moksha in a simple 
language (Sadhukkadi). 

	 uhps mfYyf•r lgh dksM dk p;u dhft,%

1.	 A&ii] B&i] C&iii] D&iv

2.	 A&i] B&ii] C&iii] D&iv

3.	 A&ii] B&iii] C&i] D&iv

4.	 A&iii] B&ii] C&i] D&iv

5.	 vuqÙkfjr ç'u

35.	 uhps nks dFku fn, x, gSa%

	 dFku (I)% cSjkB t;iqj ftys esa fLFkr gSA ;g 
fofHkUu ;qxksa ds nkSjku cgqr fodflr LFkku jgk gSA

	 dFku (II)% egkHkkjr dky esa ;g eRL; çns'k dh 

jktèkkuh FkhA lezkV v'kksd ds dky dh iRFkj dh 

ifêðdk,¡ Hkh feyh gSaA

	 mijksDr dFkuksa ds vkèkkj ij] uhps fn, x, 

fodYiksa esa ls lcls mi;qDr mÙkj pqfu,A

1.	 dFku (I) vkSj dFku (II) nksuksa lgh gSaA

2.	 dFku (I) vkSj dFku (II) nksuksa xyr gSaA

3.	 dFku (I) lgh gS ysfdu dFku (II) xyr gSA

4.	 dFku (I) xyr gS ysfdu dFku (II) lgh gSA
5.	 vuqÙkfjr ç'u

36.	 fuEufyf•r esa ls fdl fdys dh lqanjrk ls 

vfHkHkwr gksdj fczfV'k bfrgkldkj tsEl VkWM us 

dgk Fkk fd & ;fn mUgsa jktLFkku esa tkxhj dh 

is'kd'k dh tkrh] rks os ml fdys dks pqurs\

1.	 rkjkx<+ fdyk

2.	 fpÙkkSM+x<+ fdyk

3.	 HkSaljksM+x<+ fdyk

4.	 ukgjx<+ fdyk

5.	 vuqÙkfjr ç'u

37.	 uhps nks dFku fn, x, gSa%

	 dFku (I)% nknwn;ky (jktLFkku ds dchj) dk 

tUe 1542 bZ- esa iQkYxqu 'kqDy uoeh dks t;iqj 

ds ikl ukjk;.kk esa gqvk FkkA

	 dFku (II)% nknw us czã] tho] txr vkSj eks{k 

ij viuh f'k{kk ljy Hkk"kk (lèkqDdM+h) esa nhA
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	 In the light of the above statements, choose 
the most appropriate answer from the 
options given below. 
1.	 Statement (I) is incorrect but Statement 

(II) is correct. 
2.	 Both Statement (I) and Statement (II) 

are correct. 
3.	 Both Statement (I) and Statement (II) 

are incorrect. 
4.	 Statement (I) is correct but Statement 

(II) is incorrect. 
5.	 Question not attempted

38.	 Given below are two statements : 

	 Statement (I): Ajmer was an important 
centre of political awakening and socio-
economic activity from the final years of 
the nineteenth century.

	 Statement (II): In 1888, a delegate 
from Ajmer-Marwars participated in the 
Allahabad session of the Indian National 
Congress. 

	 In the light of the above statements, choose 
the most appropriate answer from the 
options given below. 
1.	 Statement (I) is incorrect but Statement 

(II) is correct. 
2.	 Both Statement (I) and Statement (II) 

are correct. 
3.	 Both Statement (I) and Statement (II) 

are incorrect. 
4.	 Statement (I) is correct but Statement 

(II) is incorrect. 
5.	 Question not attempted

39.	 Match List-I with List-II. 

List - I 
(Memorials)

List - II  
(Place)

A. Jaswant Singh’s 
Thada 

i. Jaisalmer

B. Chhatris of Rulers 
and Paliwals 

ii. Bundi

C. Chaurasi Khambon 
Ki Chhatri 

iii. Alwar

D. Fateh Gumbad iv. Jodhpur

	 mijksDr dFkuksa ds vkèkkj ij] uhps fn, x, 

fodYiksa esa ls lcls mi;qDr mÙkj pqfu,A

1.	 dFku (I) xyr gS ysfdu dFku (II) lgh gSA

2.	 dFku (I) vkSj dFku (II) nksuksa lgh gSaA

3.	 dFku (I) vkSj dFku (II) nksuksa xyr gSaA

4.	 dFku (I) lgh gS ysfdu dFku (II) xyr gSA

5.	 vuqÙkfjr ç'u

38.	 uhps nks dFku fn, x, gSa%

	 dFku (I) % mUuhloha 'krkCnh ds vafre o"kks± ls 

vtesj jktuhfrd tkx`fr vkSj lkekftd&vkfFkZd 

xfrfofèk dk ,d egRoiw.kZ dsaæ FkkA

	 dFku (II) % 1888 esa] vtesj&ekjokM+ ds ,d 

çfrfufèk us Hkkjrh; jk"Vªh; dkaxzsl ds bykgkckn 

vfèkos'ku esa Hkkx fy;kA

	 mijksDr dFkuksa ds vkèkkj ij] uhps fn, x, 

fodYiksa esa ls lcls mi;qDr mÙkj pqfu,A

1.	 dFku (I) xyr gS ysfdu dFku (II) lgh gSA

2.	 dFku (I) vkSj dFku (II) nksuksa lgh gSaA

3.	 dFku (I) vkSj dFku (II) nksuksa xyr gSaA

4.	 dFku (I) lgh gS ysfdu dFku (II) xyr gSA

5.	 vuqÙkfjr ç'u

39.	 lwph&I dks lwph&II ls lqesfyr djsaA

lwph & I 
(Lekjd)

lwph & II 
(LFkku)

A. tloar flag dk FkM+k i. tSlyesj

B. 'kkldksa vkSj ikyhokyksa 
dh Nrfj;k¡

ii. cwanh

C. pkSjklh •aHkksa dh Nrjh iii. vyoj

D. iQrsg xqEcn iv. tksèkiqj
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	 Choose the most appropriate answer from 
the options given below :
1.	 A & iii] B& ii C & i] D & iv 
2.	 A & ii] B& iv] C & iii] D & i 
3.	 A & i] B& iii] C & iv] D & ii 
4.	 A & iv] B& i] C & ii] D & iii 
5.	 Question not attempted

40.	 Consider the following statement with 
respect to Rajasthani Schools of painting : 
A.	 Prominent artists of the Mewar school 

of paintings were Nisardin, Sahibdin & 
Manohar.

B.	 Baramasa is a popular theme of Marwar 
school of painting.

C.	 In the Bikaner school of paintings, 
a prevailing practice was to set up 
studios called Mandi, where a group of 
artists work under the supervision of a 
Master artist.

	 Select the correct Options:
1.	 A & C only 
2.	 A & B Only 
3.	 B & C Only
4.	 All are correct 
5.	 Question not attempted

41.	 Who has been awarded UNEP’s 2024 
Champion of the Earth in the Lifetime 
Achievement category?
1.	 Dr. Purnima Devi Barman
2.	 Narendra Modi 
3.	 Madhav Gadgil
4.	 Kasturirangan
5.	 Question not attempted

42.	 Who amongst the following Indians has 
been recently selected for the ‘Goldman 
Environmental Prize 2024’? 
1.	 Ramesh Agrawal 
2.	 Alok Shukla 
3.	 Tulsi Gowda 
4.	 Rajendra Singh 
5.	 Question not attempted

	 uhps fn, x, fodYiksa esa ls lcls mi;qDr mÙkj 
pqfu,%

1.	 A & iii] B& ii C & i] D & iv 
2.	 A & ii] B& iv] C & iii] D & i 
3.	 A & i] B& iii] C & iv] D & ii 
4.	 A & iv] B& i] C & ii] D & iii 
5.	 vuqÙkfjr ç'u

40.	 jktLFkkuh fp=kdyk 'kSyh ds lacaèk esa fuEufyf•r 
dFku ij fopkj djsa%

A.	 esokM+ fp=kdyk Ldwy ds çeq• dykdkj 

fulkjnhu] lkfgcnhu vkSj euksgj FksA

B.	 ckjkeklk ekjokM+ fp=kdyk 'kSyh dk ,d 

yksdfç; fo"k; gSA

C.	 chdkusj fp=kdyk 'kSyh esa] eaMh uked 

LVwfM;ks LFkkfir djus dh çpfyr çFkk Fkh] 

tgk¡ dykdkjksa dk ,d lewg ,d ekLVj 

dykdkj dh ns•js• esa dke djrk FkkA

	 lgh fodYi pqusa%

1.	 dsoy A vkSj C
2.	 dsoy A vkSj B
3.	 dsoy B vkSj C
4.	 lHkh lgh gSa

5.	 vuqÙkfjr ç'u

41.	 ykbiQVkbe vphoesaV Js.kh esa ;w,ubZih ds 2024 
pkSafi;u vkWiQ n vFkZ dk iqjLdkj fdls fn;k x;k 
gS\
1.	 MkW- iwf.kZek nsoh ceZu
2.	 ujsaæ eksnh
3.	 ekèko xkMfxy
4.	 dLrwjhjaxu
5.	 vuqÙkfjr ç'u

42.	 fuEufyf•r esa ls fdl Hkkjrh; dks gky gh esa 
^xksYMeSu i;kZoj.k iqjLdkj 2024* ds fy, pquk 
x;k gS\
1.	 jes'k vxzoky
2.	 vkyksd 'kqDyk
3.	 rqylh xkSM+k
4.	 jktsaæ flag
5.	 vuqÙkfjr ç'u
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43.	 Who has been chosen as the recipient of the 
2024 Lokmanya Tilak Award ?
1.	 Narendra Modi
2.	 Smt. Sudha Murty
3.	 Dr. S. Somanath
4.	 Dr. Mayilsamy Annadurai
5.	 Question not attempted

44.	 Match List-I & List-II with reference 
to Players from Rajasthan & associated 
Games/sports.

List-I  
(Players)

List-II
(Games/Sports)

A. Divyakriti 
Singh

i. Shooting 

B. Maheshwari 
Chauhan

ii. Equestrian

C. Bhawna Jat iii.  Racewalker
D. Jyoti 

Choudhary 
iv.  Cricket

	 Select the Correct Code:
1.	 A-i, B-ii, C-iii, D-iv
2.	 A-ii, B-i, C-iii, D-iv
3.	 A-iii, B-i, C-ii, D-iv
4.	 A-iv, B-i, C-ii, D-iii
5.	 Question not attempted

45.	 Which of the following statements is 
incorrect in reference to the recently held 
19th Asian Games?
1.	 It took place in Hangzhou, People's 

Republic of China from 23 September 
to 8 October 2023.

2.	 India finishes the 19th Asian Games 
with a record 107 Medals-28 gold, 38 
silver and 41 bronze.

3.	 The official mascots of the 2023 Asian 
Games Were a trio of robots named 
Congcong, Lianlian, and Chenchen.

4.	 Japan finished at the top of the table 
with 383 medals which included 201 
gold medals.

5.	 Question not attempted

43.	 2024 yksdekU; fryd iqjLdkj ds çkIrdrkZ ds 

:i esa fdls pquk x;k gS\

1.	 ujsaæ eksnh

2.	 Jherh lqèkk ewfrZ

3.	 MkW- ,l- lkseukFk

4.	 MkW- ekf;ylkeh vUuknqjbZ

5.	 vuqÙkfjr ç'u

44.	 jktLFkku ds f•ykfM+;ksa vkSj lacafèkr •syksa@•syksa 

ds lanHkZ esa lwph&I vkSj lwph&II dk feyku 

dhft,A

lwph & I 
(f•ykM+h)

lwph & II 
(•sy@ØhM+k)

A. fnO;Ñfr flag i. 'kwfVax

B. ekgs'ojh pkSgku ii. ?kqM+lokj
C. Hkkouk tkV iii. jslokWdj
D. T;ksfr pkSèkjh iv. fØdsV

	 lgh dksM dk p;u djsa%

1.	 A&i] B&ii] C&iii] D&iv
2.	 A&ii] B&i] C&iii] D&iv
3.	 A&iii] B&i] C&ii] D&iv
4.	 A&iv] B&i] C&ii] D&iii
5.	 vuqÙkfjr ç'u

45.	 gky gh esa vk;ksftr 19osa ,f'k;kbZ •syksa ds lanHkZ 

esa fuEufyf•r esa ls dkSu lk dFku xyr gS\

1.	 ;g 23 flracj ls 8 vDVwcj 2023 rd 

gkaXtks] ihiqYl fjifCyd vkWiQ pkbuk esa 

vk;ksftr fd;k x;kA 

2.	 Hkkjr us 19osa ,f'k;kbZ •syksa esa fjdkWMZ 107 

ind thrs & 28 Lo.kZ] 38 jtr vkSj 41 

dkaL;A

3.	 2023 ,f'k;kbZ •syksa ds vkfèkdkfjd 'kqHkadj 

dkaxdkax] fy;kufy;ku vkSj psupsu uked 

jkscksVksa dh frdM+h Fkh A 

4.	 tkiku 383 indksa ds lkFk rkfydk esa 'kh"kZ 

ij jgk] ftlesa 201 Lo.kZ ind 'kkfey FksA

5.	 vuqÙkfjr ç'u



© Copyright:  	 www.nextias.com(16 – A)

RAS Prelims Test 2024

46.	 Which of the Following statements is/are 
Correct about Jan Soochana Portal ?
1.	 It is the first initiative of its kind 

anywhere in the country.
2.	 To provide information about all 

the schemes implemented by the 
government at one place in an 
accessible, transparent and reliable 
manner.

3.	 Real time data of 117 departments 
pertaining to 344 government schemes 
are displayed on the portal.

4.	 All are Correct 
5.	 Question not attempted

47.	 Match List-I with List-II: 

List-I (Scheme) List-II  (Launched)
A. Shudh ke liye 

yudh 
I. 26 October, 

2020 .
B. Nirogi 

Rajasthan 
Abhiyan

II. 18 December, 
2019 

C. Indira Rasoi 
Yojana 

III. 20 August, 2020 

D. Indira Gandhi 
urban credit 
card yojana 

IV. 24 February, 
2021

	 Choose the most appropriate answer from 
the options given below:
1.	 A - I, B - II, C - III, D - IV 
2.	 A - II, B - III, C - IV, D - I 
3.	 A - III, B - IV, C - I, D - II 
4.	 A - IV, B - III, C - II, D - I 
5.	 Questionnot attempted

48.	 Recently, which institute has been 
established on the lines of NITI Aayog, 
replacing the Chief Minister's Rajasthan 
Economic Transformation Advisory 
Council (CMRETAC)?
1.	 Rajasthan Institute for Growth and 

Development 
2.	 Rajasthan Institute for Policy and 

Research 
3.	 Rajasthan Institute for Transformation 

and Innovation 
4.	 Rajasthan Centre for Strategic Studies
5.	 Question not attempted

46.	 tu lwpuk iksVZy ds ckjs esa fuEufyf•r esa ls 

dkSu lk dFku lgh gS @ gSa\

1.	 ;g ns'k esa viuh rjg dh igyh igy gSA

2.	 ljdkj }kjk fØ;kfUor lHkh ;kstukvksa dh 

tkudkjh ,d gh LFkku ij lqyHk] ikjn'khZ 

,oa fo'oluh; rjhds ls miyCèk djkukA

3.	 iksVZy ij 344 ljdkjh ;kstukvksa ls lacafèkr 

117 foHkkxksa dk okLrfod le; MsVk çnf'kZr 

fd;k tkrk gSA

4.	 lHkh lgh gSa

5.	 vuqÙkfjr ç'u

47.	 lwph&I dks lwph&II ls lqesfyr dhft,%

lwph&I  (;kstuk) lwph&II ('kq:)

A. 'kq¼ ds fy, 
;q¼ 

I. 26 vDVwcj] 2020

B. fujksxh jktLFkku 
vfHk;ku

II. 18 fnlacj] 2019

C. bafnjk jlksbZ 
;kstuk

III. 20 vxLr] 2020

D. bafnjk xkaèkh 
'kgjh ØsfMV 
dkMZ ;kstuk

IV. 24 iQjojh] 2021

	 uhps fn, x, fodYiksa esa ls lcls mi;qDr mÙkj 
pqfu,%
1.	 A - I, B - II, C - III, D - IV 
2.	 A - II, B - III, C - IV, D - I 
3.	 A - III, B - IV, C - I, D - II 
4.	 A - IV, B - III, C - II, D - I 
5.	 vuqÙkfjr ç'u

48.	 gky gh esa uhfr vk;ksx dh rtZ ij eq[;ea=kh 
jktLFkku vkfFkZd ifjorZu lykgdkj ifj"kn 
(lh,evkjbZVh,lh) ds LFkku ij dkSu lk laLFkku 
LFkkfir fd;k x;k gS\
1.	 jktLFkku lao`f¼ ,oa fodkl laLFkku
2.	 jktLFkku uhfr ,oa vuqlaèkku laLFkku
3.	 jktLFkku ifjorZu ,oa uokpkj laLFkku
4.	 jktLFkku lkefjd vè;;u dsaæ
5.	 vuqÙkfjr ç'u
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49.	 Consider the following statement with 
respect to Urbanized District of Rajasthan : 
A.	 Most Urbanized Districts (% urban 

population) of Rajasthan are Kota, 
Jaipur and Ajmer respectively.

B.	 Least Urbanized Districts (% urban 
population) Dungarpur, Barmer and 
Banswara respectively.

C.	 Most Urbanized Districts (% urban 
population) of Rajasthan are Kota, 
Jaipur and Jodhpur respectively.

D.	 Least Urbanized Districts (% urban 
population) Dungarpur, Pratapgarh 
and Banswara respectively.

Select the Correct option : 
1.	 A & B
2.	 C & D
3.	 A & C
4.	 B & D
5.	 Question not attempted

50.	 Which sub-sector contributes the most to 
the state's service sector ?
1.	 Trade, Hotels & Restaurants
2.	 Transport, Storage & Communication
3.	 Financial Services
4.	 Real Estate, ownership of dwellings 

& professional services Public 
Administration

5.	 Question not attempted

51.	 Which of the following statements is 
incorrect with reference to the schemes 
being implemented by the Devasthan 
Department?
1.	 Mukhyamantri Senior Citizen Tirtha 

Yatra Yojana has been renamed as the 
Pandit Deen Dayal Upadhyaya Senior 
Citizen Tirth Yatra Yojana.

2.	 Under the Moksh Kalash Yojana, 
free travel is provided for two 
family members to Haridwar for the 
immersion of ashes.

3.	 Under the Sindhu Darshan Pilgrimage 
Scheme, a trip to the Sindhu Darshan 
pilgrimage site in Sindh Province of 
Pakistan, is provided.

49.	 jktLFkku ds 'kgjhÑr ftys ds lacaèk esa fuEufyf•r 
dFku ij fopkj dhft,%
A.	 jktLFkku ds lokZfèkd 'kgjhÑr ftys  

(» 'kgjh tula[;k) Øe'k% dksVk] t;iqj 
vkSj vtesj gSa A

B.	 lcls de 'kgjhÑr ftys (% 'kgjh tula[;k 
dk çfr'kr) Øe'k% Mwaxjiqj] ckM+esj vkSj 
ckalokM+k A

C.	 jktLFkku ds lokZfèkd 'kgjhÑr ftys  
(» 'kgjh tula[;k) Øe'k% dksVk] t;iqj 
vkSj tksèkiqj gSa A

D.	 lcls de 'kgjhÑr ftys (» 'kgjh 
tula[;k) Øe'k% Mwaxjiqj] çrkix<+ vkSj 
ckalokM+k A

	 lgh fodYi pqfu,%
1.	 A & B
2.	 C & D
3.	 A & C
4.	 B & D
5.	 vuqÙkfjr ç'u

50.	 jkT; ds lsok {ks=k esa dkSu lk mi&{ks=k lcls 
vfèkd ;ksxnku nsrk gS\
1.	 O;kikj] gksVy vkSj jsLrjka
2.	 ifjogu] HkaMkj.k vkSj lapkj
3.	 foÙkh; lsok,a
4.	 fj;y ,LVsV] vkoklksa dk LokfeRo vkSj 

O;kolkf;d lsok,a yksd ç'kklu
5.	 vuqÙkfjr ç'u

51.	 nsoLFkku foHkkx }kjk fØ;kfUor dh tk jgh 
;kstukvksa ds lanHkZ esa fuEufyf•r esa ls dkSu lk 
dFku xyr gS\
1.	 eq[;ea=kh ofj"B ukxfjd rhFkZ ;k=kk ;kstuk 

dk uke cnydj iafMr nhu n;ky mikè;k; 
ofj"B ukxfjd rhFkZ ;k=kk ;kstuk dj fn;k 
x;k gSA

2.	 eks{k dy'k ;kstuk ds rgr vfLFk foltZu 
ds fy, ifjokj ds nks lnL;ksa dks gfj}kj rd 
eqÝr ;k=kk dh lqfoèkk çnku dh tkrh gSA

3.	 flaèkq n'kZu rhFkZ;k=kk ;kstuk ds varxZr 

ikfdLrku ds flaèk çkar esa fLFkr flaèkq n'kZu 

rhFkZ LFky dh ;k=kk çnku dh tkrh gSA
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4.	 All are correct 
5.	 Question not attempted

52.	 Which of the following statements is 
incorrect with reference to Appointment of 
the RBI Governor ?
1.	 The appointment of the RBI Governor 

follows a set process defined under the 
Reserve Bank of India Act, 1934.

2.	 A financial sector regulatory 
appointment search committee is 
responsible for shortlisting candidates

3.	 The RBI Governor is appointed for 
a term not exceeding three years, 
with the possibility of extension 
or reappointment by the central 
government.

4.	 Cabinet Committee on Appointments, 
headed by the Prime Minister approves 
the candidate, then appointment is 
confirmed by the central government.

5.	 Question not attempted

53.	 Which of the following statements about 
the Public Distribution System is Incorrect?
1.	 The Public Distribution System is 

operated under the joint responsibility 
of Centre and State / Union Territories. 

2.	 Food Corporation of India has assumed 
the responsibility for procurement, 
storage and transportation of food 
grains to the State Governments. 

3.	 Both Centre and State have the joint 
responsibility to identify eligible 
beneficiaries 

4.	 Some States also distribute additional 
items of mass consumption through the 
PDS outlets such as pulses, edible oil, 
etc.

5.	 Question not Attempted

54.	 Which of the following can be called 
'factors of production'?
A.	 Human labour
B.	 Land
C.	 Consumer goods
D.	 Capital goods

4.	 lHkh lgh gSa

5.	 vuqÙkfjr ç'u

52.	 vkjchvkbZ xouZj dh fu;qfDr ds lanHkZ esa 

fuEufyf•r esa ls dkSu lk dFku xyr gS\

1.	 vkjchvkbZ xouZj dh fu;qfDr Hkkjrh; fjtoZ 

cSad vfèkfu;e] 1934 ds rgr fuèkkZfjr 

çfØ;k ds vuqlkj gksrh gSA

2.	 foÙkh; {ks=k fu;ked fu;qfDr •kst lfefr 

mEehnokjksa dh 'kkWVZfyfLVax ds fy, ftEesnkj 

gSA

3.	 vkjchvkbZ xouZj dh fu;qfDr rhu o"kZ ls 

vfèkd vofèk ds fy, ugha dh tkrh gS] 

rFkk dsUæ ljdkj }kjk dk;Zdky foLrkj ;k 

iqufuZ;qfDr dh laHkkouk jgrh gSA

4.	 çèkkuea=kh dh vè;{krk okyh fu;qfDr lacaèkh 

dSfcusV lfefr mEehnokj dks eatwjh nsrh gS] 

fiQj dsaæ ljdkj }kjk fu;qfDr dh iqf"V dh 

tkrh gSA

5.	 vuqÙkfjr ç'u

53.	 lkoZtfud forj.k ç.kkyh ds ckjs esa fuEufyf•r 
esa ls dkSu lk dFku xyr gS\
1.	 lkoZtfud forj.k ç.kkyh dsUæ vkSj jkT;@

la?k jkT; {ks=kksa dh la;qDr ftEesnkjh ds rgr 
lapkfyr gksrh gSA

2.	 Hkkjrh; •k| fuxe us jkT; ljdkjksa dks 
•k|kUu dh •jhn] HkaMkj.k vkSj ifjogu dh 
ftEesnkjh lkSaih gSA

3.	 ik=k ykHkkfFkZ;ksa dh igpku djus dh la;qDr 
ftEesnkjh dsaæ vkSj jkT; nksuksa dh gSA

4.	 dqN jkT; lkoZtfud forj.k ç.kkyh ds 
ekè;e ls tu miHkksx dh vfrfjDr oLrq,a 
Hkh forfjr djrs gSa] tSls nkysa] •k| rsy 
vkfnA

5.	 vuqÙkfjr ç'u

54.	 fuEufyf•r esa ls fdls ^mRiknu ds dkjd* dgk 
tk ldrk gS\
A.	 ekuo Je
B.	 Hkwfe
C.	 miHkksDrk oLrq,a
D.	 iwathxr lkeku
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	 Select the correct answer using the codes 
below : 
1.	 A & B Only 
2.	 Only A, B & D
3.	 Only A, B & C
4.	 All 
5.	 Question not attempted

55.	 Which of the following measures can be 
used to reduce inflation?
A.	 Increasing Cash Reserve Ratio (CRR).
B.	 Increasing Statutory Liquidity Ratio 

(SLR).
C.	 Reducing fiscal deficit.
D.	 Increasing Reverse Repo Rate.

	 Select the correct answer using the code 
below.
1.	 A and B only
2.	 A, B and C only
3.	 C and D only
4.	 All are correct
5.	 Question not attempted

56.	 In the Union Budget speech for 2024-25 
which oilseeds were noted as not being 
covered under the goal of Atma Nirbhar 
(self-reliance) for oil ?
1.	 Sesame
2.	 Coconut
3.	 Groundnut
4.	 Rapeseed-Mustard
5.	 Question not attempted

57.	 Which one is not included in the Budget 
Priorities in pursuit of 'Vikasit Bharat in 
Union Budget 2024-25?
1.	 Inclusive HRD & Social Justice 
2.	 Productivity and Resilience in 

Agriculture
3.	 Sustainable Development
4.	 Employment and Skilling
5.	 Question not attempted

58.	 Consider the following statements: 
A.	 Skewflation is a combination of high 

inflation and low growth. 
B.	 Stagflation is one in which there is a 

price rise of one or a small group of 
commodities over a sustained period of 
time. 

	 uhps fn, x, dksM dk mi;ksx djds lgh mÙkj 
pqusa%
1.	 dsoy A & B 
2.	 dsoy A] B & D
3.	 dsoy A] B & C
4.	 lHkh
5.	 vuqÙkfjr ç'u

55.	 eqækLiQhfr dks de djus ds fy, fuEufyf•r esa 
ls dkSu ls mik; dk mi;ksx fd;k tk ldrk gS\
A.	 udn vkjf{kr vuqikr (lhvkjvkj) esa o`f¼A
B.	 oSèkkfud rjyrk vuqikr (,l,yvkj) esa 

o`f¼A
C.	 jktdks"kh; ?kkVs dks de djukA
D.	 fjolZ jsiks nj esa o`f¼A

	 uhps fn, x, dksM dk mi;ksx djds lgh mÙkj 
pqusaA
1.	 dsoy A vkSj B
2.	 dsoy A] B vkSj C
3.	 dsoy C vkSj D
4.	 lHkh lgh gSa
5.	 vuqÙkfjr ç'u

56.	 2024&25 ds dsaæh; ctV Hkk"k.k esa fdu fryguksa 
dks rsy ds fy, vkRe fuHkZj y{; ds varxZr 
'kkfey ugha fd;k x;k Fkk\
1.	 fry
2.	 ukfj;y
3.	 ewaxiQyh
4.	 jsilhM&ljlksa
5.	 vuqÙkfjr ç'u

57.	 dsaæh; ctV 2024&25 esa ^fodkl'khy Hkkjr* ds 
y{; dks çkIr djus ds fy, ctV çkFkfedrkvksa 
esa dkSu lh çkFkfedrk 'kkfey ugha gS\
1.	 lekos'kh ekuo lalkèku fodkl ,oa lkekftd 

U;k;
2.	 Ñf"k esa mRikndrk vkSj yphykiu
3.	 lrr fodkl
4.	 jkstxkj vkSj dkS'ky
5.	 vuqÙkfjr ç'u

58.	 fuEufyf•r dFkuksa ij fopkj djsa%
A.	 LD;wÝys'ku mPp eqækLiQhfr vkSj de o`f¼ 

dk la;kstu gSA
B.	 eqækLiQhfrtfur eanh og fLFkfr gS ftlesa 

,d ;k dqN oLrqvksa ds lewg dh dherksa esa 
fujarj le;kofèk rd o`f¼ gksrh gSA
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C.	 Disinflation means a fall in the rate of 
inflation over a period of time

D.	 Reflation is a situation often deliberately 
brought by the government to reduce 
unemployment and increase demand 
by going for higher levels of economic 
growth. 

	 Which of the statements given above is/are 
incorrect? 
1.	 A & B only 
2.	 A & C only 
3.	 A, B & D only 
4.	 A, C & D only 
5.	 Question not attempted

59.	 A rise in 'SENSEX' means:
1.	 A rise in prices of shares of all 

companies belonging to a group of 
companies registered with Bombay 
Stock Exchange.

2.	 A rise in the prices of shares of all 
companies registered with the National 
Stock Exchange. 

3.	 An overall rise in prices of shares of 
a group of companies registered with 
Bombay Stock Exchange. 

4.	 A rise in prices of states of all 
companies registered with Bombay 
Stock Exchange. 

5.	 Question not attempted

60.	 Match List-I with List-II and select the 
correct answer using the code given below:

List-I  
(Curve)

List-II  
(Represents)

A. Laffer 
Curve

i. Relationship between 
Tax Rates & Tax 
Revenues

B. Phillips 
Curve

ii. Relationship between 
the rate of inflation & 
the unemployment rate

C. Lorenz 
Curve

iii. Shows Distribution 
of income (or wealth) 
within an economy

D. Kuznet 
Curve

iv. Relationship between 
economic development 
and income inequality.

C.	 fMLbUÝys'ku dk vFkZ gS ,d fuf'pr 
le;kofèk esa eqækLiQhfr dh nj esa fxjkoV

D.	  iqueZqækLiQhfr ,d ,slh fLFkfr gS ftls ljdkj 
vDlj tkucw>dj ykrh gS rkfd csjkstxkjh 
dks de fd;k tk lds vkSj vkfFkZd fodkl 
ds mPp Lrj rd tkdj ekax dks c<+k;k tk 
ldsA

	 mi;ZqDr esa ls dkSu lk@ls dFku xyr gS@gSa\
1.	 dsoy A vkSj B
2.	 dsoy A vkSj C
3.	 dsoy A] B vkSj D
4.	 dsoy A] C vkSj D
5.	 vuqÙkfjr ç'u

59.	 ^lsalsDl* esa o`f¼ dk vFkZ gS%
1.	 ckWEcs LVkWd ,Dlpsat esa iathÑr daifu;ksa ds 

lewg ls lacafèkr lHkh daifu;ksa ds 'ks;jksa dh 
dherksa esa o`f¼A

2.	 us'kuy LVkWd ,Dlpsat esa iathÑr lHkh 
daifu;ksa ds 'ks;jksa dh dherksa esa o`f¼A

3.	 ckWEcs LVkWd ,Dlpsat esa iathÑr daifu;ksa 
ds ,d lewg ds 'ks;jksa dh dherksa esa lexz 
o`f¼A

4.	 ckWEcs LVkWd ,Dlpsat esa iathÑr lHkh 
daifu;ksa ds 'ks;jksa dh dherksa esa o`f¼A

5.	 vuqÙkfjr ç'u

60.	 lwph&I dks lwph&II ls lqesfyr djsa vkSj uhps fn, 
x, dwV dk mi;ksx djds lgh mÙkj pqfu,%&

lwph & I 
(oØ)

lwph & II 
(çfrfufèkRo djrk gS)

A. ykiQj oØ i. dj njksa vkSj dj 
jktLo ds chp lacaèk

B. fiQfyIl oØ ii. eqækLiQhfr dh nj vkSj 
csjkstxkjh nj ds chp 
lacaèk

C. yksjsat oØ iii. ,d vFkZO;oLFkk ds 
Hkhrj vk; (;k èku) 
dk forj.k fn•krk gS

D. dqtusV oØ iv. vkfFkZd fodkl vkSj 
vk; vlekurk ds 
chp lacaèkA
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	 Codes: 
1.	 A-i, B-ii, C-iii, D-iv
2.	 A-ii, B-iii, C-i, D-iv
3.	 A-ii, B-i, C-iii, D-iv
4.	 A-i, B-iii, C-ii, D-iv
5.	 Question not attempted

61.	 In which year was the Kalbelia dance form 
included in UNESCO’s intangible heritage 
list?
1.	 2008 
2.	 2009 
3.	 2010 
4.	 2011
5.	 Question not attempted

62.	 Which of the following Rivers passes 
through the Tropic of Cancer?
A.	 Sabarmati
B.	 Mahi
C.	 Luni
D.	 Damodar

	 Select the correct Option : 
1.	 Only A, B & C
2.	 Only A, B & D
3.	 Only A & B only 
4.	 All 
5.	 Question not attempted

63.	 Pick the odd one out in the following sets of 
Mountains
1.	 Himalayan Mountains- Nepal.
2.	 Aravalli Range- India.
3.	 Vosges- Europe.
4.	 Appalachians- North America.
5.	 Question not attempted

64.	 Which of the following ecological pyramids 
are always upright ?
1.	 Pyramid of numbers
2.	 Pyramid of Energy
3.	 Pyramid of biomass
4.	 All 
5.	 Question not attempted

	 dksM%

1.	 A&i] B&ii] C&iii] D&iv
2.	 A&ii] B&iii] C&i] D&iv
3.	 A&ii] B&i] C&iii] D&iv
4.	 A&i] B&iii] C&ii] D&iv
5.	 vuqÙkfjr ç'u

61.	 dkycsfy;k u`R; 'kSyh dks fdl o"kZ ;wusLdks dh 

vewrZ fojklr lwph esa 'kkfey fd;k x;k Fkk\

1.	 2008

2.	 2009

3.	 2010

4.	 2011

5.	 vuqÙkfjr ç'u

62.	 fuEufyf•r esa ls dkSu lh unh ddZ js•k ls gksdj 
xqtjrh gS\
A.	 lkcjerh
B.	 ekgh
C.	 ywuh
D.	 nkeksnj

	 lgh fodYi pqusa%
1.	 dsoy A, B & C
2.	 dsoy A, B & D
3.	 dsoy A & B only 
4.	 lHkh
5.	 vuqÙkfjr ç'u

63.	 fuEufyf•r ioZrksa ds lewg esa ls fo"ke ioZr dks 
pqusa
1.	 fgeky; ioZr & usiky
2.	 vjkoyh ioZrekyk & Hkkjr
3.	 okWltsl & ;wjksi
4.	 vIiykfp;u & mÙkjh vesfjdk
5.	 vuqÙkfjr ç'u

64.	 fuEufyf•r esa ls dkSu ls ikfjfLFkfrd fijkfeM 
ges'kk lhèks gksrs gSa\
1.	 la[;k dk fijkfeM
2.	 ÅtkZ dk fijkfeM
3.	 ck;ksekl dk fijkfeM
4.	 lHkh
5.	 vuqÙkfjr ç'u
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65.	 Match List-I with List-II and select the 
correct answer using the code given below:-

List-I  
(Industrial Region)

List-II 
(Country)

A. Kanto Region i. Japan
B. Lancashire ii. France
C. Lorraine iii. United 

Kingdom
D. Kuznetsk iv. Russia

	 Code:
1.	 A-i, B-ii, C-iii, D-iv
2.	 A-i, B-iii, C-ii, D-iv
3.	 A-iv, B-iii, C-ii, D-i
4.	 A-iv, B-ii, C-iii, D-i
5.	 Question not attempted

66.	 Lakes can be formed by various geo-
climatic and anthropogenic processes. In 
this context consider the following pairs. 

Lakes Type of lakes
A. Vembanad lake Lagoon 
B. Wular lake Tectonic Lake 
C. Kanwar Lake Man made Lake

	 Which of the pairs given above is incorrectly 
matched?
1.	 only A & B
2.	 only B & C
3.	 C only
4.	 A only
5.	 Question not attempted

67.	 Which of the following statements with 
reference to the conditions favorable for 
occurrence of Cold Wave in India is/are 
incorrect?
1.	 Foggy weather developed during the 

day. 
2.	 Clear sky conditions developed during 

the night. 
3.	 Both are Correct
4.	 None
5.	 Question not attempted

65.	 lwph&I dks lwph&II ls lqesfyr djsa vkSj uhps fn, 

x, dwV dk mi;ksx djds lgh mÙkj pqfu,%&

lwph&I 
(vkS|ksfxd {ks=k)

lwph&II 
(ns'k)

A. dkaVks {ks=k i. tkiku
B. yadk'kk;j ii. Úkal
C. yksjsu iii. ;wukbVsM fdaxMe
D. dqt~usRLd iv. :l

	 dksM %

1.	 A&i] B&ii] C&iii] D&iv

2.	 A&i] B&iii] C&ii] D&iv

3.	 A&iv] B&iii] C&ii] D&i

4.	 A&iv] B&ii] C&iii] D&i

5.	 vuqÙkfjr ç'u

66.	 >hysa fofHkUu Hkw&tyok;q vkSj ekuotfur 

çfØ;kvksa }kjk cukbZ tk ldrh gSaA bl lanHkZ esa 

fuEufyf•r ;qXeksa ij fopkj dhft,A

>hysa >hyksa ds çdkj
A. osEcukM >hy ySxwu
B. oqyj >hy VsDVksfud >hy
C. daoj >hy ekuo fufeZr >hy

	 mi;ZqDr esa ls dkSu lk ;qXe xyr lqesfyr gS\

1.	 dsoy A & B

2.	 dsoy B & C

3.	 dsoy C

4.	 dsoy A 

5.	 vuqÙkfjr ç'u

67.	 Hkkjr esa 'khr ygj vkus ds fy, vuqdwy 

ifjfLFkfr;ksa ds lanHkZ esa fuEufyf•r esa ls dkSu 

lk@ls dFku xyr gS@gSa \

1.	 fnu esa dksgjk Nk;k jguk 

2.	 jkr ds le; vkleku lkiQ jguk 

3.	 nksuksa lgh gSa

4.	 dksbZ ugha

5.	 vuqÙkfjr ç'u
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68.	 Arrange the following Hills of the North-
East India in the correct sequence of their 
location from North to South. 
A.	 Mikir Hills 
B.	 Mishmi Hills 
C.	 Dafla Hills 
D.	 Lushai Hills 
E.	 Patkai bum 

	 Which of the options given below is correct? 
1.	 A-B-C-D-E
2.	 A-C-B-D-E
3.	 B-C-E-A-D
4.	 B-A-C-E-D
5.	 Question not attempted

69.	 Sewan, Dhaman and Karad are __________.
1.	 Types of folk dances 
2.	 Desert soils 
3.	 Types of grasses 
4.	 Types of Rajasthani painting forms 
5.	 Question not attempted

70.	 Choose the Correct option regarding Tal 
Chhapar Wildlife Sanctuary : 
A.	 It is located in Sujangarh tehsil of 

Rajasthan's Churu district. 
B.	 Mochia Grass found in this sanctuary. 
C.	 It is famous for Black buck and kurja 

bird (Demoiselle crane). 
D.	 Recently, Wildlife management and 

Desert Ecosystem Institute has been 
established here 

	 Options: 
1.	 A, B and C only 
2.	 B,C and D only 
3.	 A, B and D only 
4.	 All are correct 
5.	 Question not Attempted

71.	 According to the National Achievement 
Survey 2021 conducted by NCERT, which 
of the following statements is correct with 
respect to the performance of Rajasthan in 
classes 3, 5, and 8 ?
1.	 The average score of educational 

quality in Rajasthan has been higher 
than the national score.

68.	 iwokZsÙkj Hkkjr dh fuEufyf•r igkfM+;ksa dks mÙkj ls 
nf{k.k rd muds LFkku ds lgh Øe esa O;ofLFkr 
djsaA 
A.	 fefdj fgYl
B.	 fe'keh fgYl
C.	 MiQyk fgYl
D	 yq'kkbZ fgYl
E.	 iVdkbZ ce fgYl

	 uhps fn, x, fodYiksa esa ls dkSu lk lgh gS\
1.	 A&B&C&D&E
2.	 A&C&B&D&E
3.	 B&C&E&A&D
4.	 B&A&C&E&D
5.	 vuqÙkfjr ç'u

69.	 lhoku] èkkeu vkSj djkM ____________ gSaA
1.	 yksd u`R; ds çdkj
2.	 jsfxLrkuh feêðh
3.	 ?kkl ds çdkj
4.	 jktLFkkuh fp=kdyk ds çdkj
5.	 vuqÙkfjr ç'u

70.	 rky Nkij oU;tho vHk;kj.; ds lacaèk esa lgh 
fodYi pqfu,% 
A.	 ;g jktLFkku ds pq: ftys dh lqtkux<+ 

rglhy esa fLFkr gSA
B.	 bl vHk;kj.; esa eksfp;k ?kkl ikbZ tkrh gSA
C.	 ;g dkyk fgj.k vkSj dqtkZ i{kh (Mseksblsy 

Øsu) ds fy, çfl¼ gSA
D.	 gky gh esa ;gka oU;tho çcaèku vkSj e#LFky 

ikfjfLFkfrdh ra=k laLFkku dh LFkkiuk dh xbZ gS

	 fodYi %
1.	 dsoy A] B vkSj C
2.	 dsoy B] C vkSj D
3.	 dsoy A] B vkSj D
4.	 lHkh lgh gSa
5.	 vuqÙkfjr ç'u

71.	 ,ulhbZvkjVh }kjk vk;ksftr jk"Vªh; miyfCèk 
loZs{k.k 2021 ds vuqlkj] d{kk 3] 5 vkSj 8 esa 
jktLFkku ds çn'kZu ds lacaèk esa fuEufyf•r esa ls 
dkSu lk dFku lgh gS\
1.	 jktLFkku esa 'kSf{kd xq.koÙkk dk vkSlr Ldksj 

jk"Vªh; Ldksj ls vfèkd jgk gSA
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2.	 The average score of educational 
quality in Rajasthan has been equal to 
the national score.

3.	 The average score of educational 
quality in Rajasthan has been Lower 
than the national score.

4.	 The performance of Rajasthan is not 
included in the survey.

5.	 Question not attempted

72.	 In which year was the Separate Directorate 
for Sanskrit language established in 
Rajasthan ?
1.	 1956
2.	 1958
3.	 1976
4.	 1998
5.	 Question not attempted

73.	 Arrange the following Districts in 
Descending order with reference to Urban 
Sex Ratio : 
1.	 Tonk > Banswara > Pratapgarh > 

Dungarpur > Rajsamand
2.	 Tonk > Pratapgarh > Dungarpur > 

Rajsamand > Banswara
3.	  Banswara > Pratapgarh > Dungarpur > 

Rajsamand > Tonk
4.	  Pratapgarh > Dungarpur > Rajsamand 

> Banswara > Tonk
5.	 Question not attempted

74.	 Which of the following statements best 
describes the difference between the Eastern 
Ghats and the Western Ghats? 
A.	 Western Ghats are comparatively more 

continuous than the Eastern Ghats.
B.	 Eastern Ghats are usually older than 

the Western Ghats. 
C.	 Eastern Ghats have a much higher level 

of biological diversity than Western 
Ghats. 

	 Select the correct answer using the code 
given below: 
1.	 A only
2.	 C only 
3.	 A and B only 
4.	 B and C only
5.	 Question not attempted

2.	 jktLFkku esa 'kSf{kd xq.koÙkk dk vkSlr Ldksj 
jk"Vªh; Ldksj ds cjkcj jgk gSA

3.	 jktLFkku esa 'kSf{kd xq.koÙkk dk vkSlr Ldksj 
jk"Vªh; Ldksj ls de jgk gSA

4.	 loZs{k.k esa jktLFkku dk çn'kZu 'kkfey ugha 
gSA

5.	 vuqÙkfjr ç'u

72.	 jktLFkku esa laLÑr Hkk"kk ds fy, i`Fkd funs'kky; 
dh LFkkiuk fdl o"kZ dh xbZ\
1.	 1956
2.	 1958
3.	 1976
4.	 1998
5.	 vuqÙkfjr ç'u

73.	 fuEufyf•r ftyksa dks 'kgjh fyax vuqikr ds 
lanHkZ esa vojksgh Øe esa O;ofLFkr djsa%
1.	 Vksad > ckalokM+k > çrkix<+ > Mwaxjiqj > 

jktlean
2.	 Vksad > çrkix<+ > Mwaxjiqj > jktlean > 

ckalokM+k
3.	 ckalokM+k > çrkix<+ > Mwaxjiqj > jktlean 

> Vksad
4.	 çrkix<+ > Mwaxjiqj > jktlean > ckalokM+k 

> Vksad
5.	 vuqÙkfjr ç'u

74.	 fuEufyf•r esa ls dkSu lk dFku iwohZ ?kkV vkSj 
if'peh ?kkV ds chp varj dks lcls vPNs <ax 
ls of.kZr djrk gS\
A.	 if'peh ?kkV rqyukRed :i ls iwohZ ?kkV dh 

rqyuk esa vfèkd fujarj gSaA
B.	 iwohZ ?kkV vkerkSj ij if'peh ?kkV ls iqjkus 

gSaA
C.	 iwohZ ?kkV esa if'peh ?kkV dh rqyuk esa 

tSfod fofoèkrk dk Lrj cgqr vfèkd gSA

	 uhps fn, x, dksM dk mi;ksx djds lgh mÙkj 
pqusa%
1.	 dsoy A
2.	 dsoy C
3.	 dsoy A vkSj B
4.	 dsoy B vkSj C
5.	 vuqÙkfjr ç'u
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75.	 Match List-I with List-II and select the 
correct answer using the code given below:-

List-I  
(Dams)

List-II 
(Location)

A. Bisalpur Dam i. Tonk
B. Som Kamla 

Amba
ii. Banswara

C. Jakham Dam iii. Pratapgarh
D. Mahi Bajaj 

Sagar
iv. Dungarpur

	 Codes:
1.	 A-i, B-ii, C-iii, D-iv
2.	 A-i, B-iv, C-iii, D-ii
3.	 A-i, B-iii, C-ii, D-iv
4.	 A-i, B-iv, C-ii, D-iii
5.	 Question not attempted

76.	 It is the state flower of rajasthan & also 
known as Marwar Teak (Found Mainly in 
Thar Desert).
Above statement refers to:
1.	 Palash
2.	 Khejri
3.	 Rohida
4.	 Tulip
5.	 Question not attempted

77.	 Identify the Incorrect Pair (Wildlife mascot 
& District) : 
1.	 Jodhpur-Demoiselle crane
2.	 Jaisalmer-Great Indian bustard
3.	 Churu-Black-buck
4.	 Kota-Indian crocodile (mugger)
5.	 Question not attempted

78.	 Which of the following statement is 
incorrect regarding Chambal River : 
1.	 It was called Charmanvati in ancient 

times
2.	 It is a tributary of the Ganga River.
3.	 The Chambal, Banas, and Seep rivers 

form the Triveni Sangam at Rameshwar 
Ghat in the Sawai Madhopur district.

4.	 The Chulia waterfall is 5 Km 
upstream of Chambal river near 
Bhainsrorgarh,Chittorgarh.

5.	 Question not attempted

75.	 lwph&I dks lwph&II ls lqesfyr dhft, vkSj uhps 
fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu,%

lwph & I 
(ckaèk)

lwph & II 
(LFkku)

A. chlyiqj ckaèk i. Vksad
B. lkse deyk vEck ii. ckalokM+k
C. tk•e ckaèk iii. çrkix<+
D. ekgh ctkt lkxj iv. Mwaxjiqj

	 dksM%
1.	 A&i] B&ii] C&iii] D&iv
2.	 A&i] B&iv] C&iii] D&ii
3.	 A&i] B&iii] C&ii] D&iv
4.	 A&i] B&iv] C&ii] D&iii
5.	 vuqÙkfjr ç'u

76.	 ;g jktLFkku dk jkT; iq"i gS vkSj bls ekjokM+ 
Vhd (eq[; :i ls Fkkj jsfxLrku esa ik;k tkrk 
gS) ds uke ls Hkh tkuk tkrk gSA

	 mijksDr dFku dk rkRi;Z gS%
1.	 iyk'k
2.	 •stM+h
3.	 jksfgM+k
4.	 VÔwfyi
5.	 vuqÙkfjr ç'u

77.	 xyr tksM+h (oU;tho 'kqHkadj vkSj ftyk) dh 
igpku dhth,%
1.	 tksèkiqj&Mseksblsy Øsu
2.	 tSlyesj&xzsV bafM;u cLVMZ
3.	 pw:&dkyk&fgju
4.	 dksVk&Hkkjrh; exjePN (exj)
5.	 vuqÙkfjr ç'u

78.	 pEcy unh ds lacaèk esa fuEufyf•r esa ls dkSu 
lk dFku xyr gS\
1.	 çkphu dky esa bls peZ.orh dgk tkrk Fkk
2.	 ;g xaxk unh dh ,d lgk;d unh gSA
3.	 pEcy] cukl vkSj lhi ufn;k¡ lokbZ ekèkksiqj ftys 

ds jkes'oj ?kkV ij f=kos.kh laxe cukrh gSaA
4.	 pwfy;k tyçikr fpÙkkSM+x<+ ds HkSaljksM+x<+ ds 

ikl pacy unh ls 5 fdeh Åij dh vksj gSA
5.	 vuqÙkfjr ç'u



© Copyright:  	 www.nextias.com(26 – A)

RAS Prelims Test 2024

79.	 Consider the following statements regarding 
the climatic zones of Rajasthan 
A.	 The BWhw climate zone is the largest 

climate zone in Rajasthan according to 
Koppen classification. 

B.	 The Cwg climate zone has the 
maximum population density and 
agricultural productivity among all the 
climatic zones of Rajasthan.

C.	 The BShw climate Zone is found in 
the semi-Arid Region like Barmer, 
Jalore, Jodhpur, Nagaur, Churu, Sikar, 
Jhunjhunu, and Hanumangarh.

	 Select the correct options : 
1.	 A & B Only 
2.	 A & C Only 
3.	 B & C only 
4.	 All are correct 
5.	 Question not attempted

80.	 Consider the following statements regarding 
Rajasthan State Biodiversity Board :
A.	 Under Section 22 of the The Biological 

Diversity Act, 2002, the State 
Government established the State 
Biodiversity Board.

B.	 It is located in Jaipur.
C.	 It is responsible for the Constitution of 

Biodiversity Management Committees 
(BMCs) at the Panchayat & Municipal 
Level for decentralized management of 
Bio-resources.

	 Select the Correct Option:
1.	 A & C Only
2.	 B & C Only
3.	 A & B Only 
4.	 All are correct 
5.	 Question not attempted

81.	 Which of the following villages are located 
at the northern and southern extreme ends 
of Rajasthan?
1.	 Kona village & Borkund village 
2.	 Gharsana and Balesar village
3.	 Katra village & Silana Village 
4.	 Borkund village & Katra village
5.	 Question not attempted

79.	 jktLFkku ds tyok;q {ks=kksa ds lacaèk esa fuEufyf•r 
dFkuksa ij fopkj djsa
A.	 dksisu oxhZdj.k ds vuqlkj BWhw tyok;q 

{ks=k jktLFkku dk lcls cM+k tyok;q {ks=k gSA
B.	 jktLFkku ds lHkh tyok;q {ks=kksa esa lhMCY;wth 

tyok;q {ks=k esa tula[;k ?kuRo vkSj Ñf"k 
mRikndrk vfèkdre gSA

C	 BShw tyok;q {ks=k ckM+esj] tkykSj] tksèkiqj] 
ukxkSj] pw:] lhdj] >qa>quw vkSj guqekux<+ 
tSls vèkZ&'kq"d {ks=k esa ik;k tkrk gSA

	 lgh fodYi pqusa %
1.	 dsoy A vkSj B
2.	 dsoy A vkSj C
3.	 dsoy B vkSj C
4.	 lHkh lgh gSa
5.	 vuqÙkfjr ç'u

80.	 jktLFkku jkT; tSo fofoèkrk cksMZ ds lacaèk esa 
fuEufyf•r dFkuksa ij fopkj dhft,%
A.	 tSo fofoèkrk vfèkfu;e] 2002 dh èkkjk 22 

ds varxZr jkT; ljdkj us jkT; tSo fofoèkrk 
cksMZ dh LFkkiuk dhA

B.	 ;g t;iqj esa fLFkr gSA
C.	 ;g tSo lalkèkuksa ds fodsUæhÑr çcaèku ds 

fy, iapk;r vkSj uxjikfydk Lrj ij tSo 
fofoèkrk çcaèku lfefr;ksa (ch,elh) ds 
xBu ds fy, ftEesnkj gS A

	 lgh fodYi pqusa %
1.	 dsoy A vkSj C
2.	 dsoy B vkSj C
3.	 dsoy A vkSj B
4.	 lHkh lgh gSa
5.	 vuqÙkfjr ç'u

81.	 fuEufyf•r esa ls dkSu ls xk¡o jktLFkku ds mÙkjh 
vkSj nf{k.kh Nksj ij fLFkr gSa\
1.	 dksuk xkao vkSj cksjdqaM xkao
2.	 ?kM+lkuk vkSj ckyslj xkao
3.	 dVjk xkao vkSj flykuk xkao
4.	 cksjdqaM xkao vkSj dVjk xkao
5.	 vuqÙkfjr ç'u
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82.	 Match List-I & List-II with respect to Sand 
Dunes of Rajasthan and select the correct 
answer using the code given below :

List-I  
(Type of Sand 

Dune)

List-II  
(Nature)

A. Longitudinal 
sand dune

i. Sand is deposited 
near bushes

B. Transverse 
sand dune

ii. Sand is deposited 
at the right angle 
of wind

C. Barkhan 
sand dune

iii. Sand is deposited 
parallel to the 
wind

D. Nebkha dune iv. Sand is deposited 
in crescent shape

	 Code:
1.	 A-iii, B-ii, C-iv, D-i
2.	 A-ii, B-iii, C-i, D-iv
3.	 A-iii, B-ii, C-iv, D-i
4.	 A-ii, B-iii, C-iv, D-i
5.	 Question not attempted

83.	 Match List-I & List-II and select the correct 
answer using the code given below :

List-I  
(Industrial Region)

List-II 
(Famous for)

A. Visakhapatnam-
Guntur Region

i. Shipbuilding

B. Ahmedabad-
Vadodara Region

ii. Leather 
goods, 
Textiles and 
Handicrafts.

C. Chotanagpur 
Industrial Region

iii. Coal & Iron 
Ore

D. Agra-Delhi-
Kalka-Saharanpur

iv. Petroleum & 
Textile

	 Codes:
1.	 A-i, B-ii, C-iii, D-iv
2.	 A-i, B-iv, C-iii, D-ii
3.	 A-iv, B-ii, C-iii, D-i
4.	 A-iv, B-iii, C-ii, D-i
5.	 Question not attempted

82.	 jktLFkku ds jsrhys Vhyksa ds lacaèk esa lwph&I vkSj 
lwph&II dk feyku djsa vkSj uhps fn, x, dksM 
dk mi;ksx djds lgh mÙkj pqfu,%

lwph & I 
(jsr ds Vhyksa 

ds çdkj

lwph & II 
(çÑfr)

A. vuqnSè;Z jsr 
dk Vhyk

i. >kfM+;ksa ds ikl jsr 
tek gksrh gS

B. vuqçLFk jsr 
dk Vhyk

ii. jsr gok ds lgh dks.k 
ij tek gksrh gS

C. cj•ku jsr 
dk Vhyk

iii. jsr gok ds lekukarj 
tek gksrh gS

D. usc•k fVCck iv. jsr vèkZpaækdkj vkdkj 
esa tek gksrh gS

	 dksM %
1.	 A&iii] B&ii] C&iv] D&i
2.	 A&ii] B&iii] C&i] D&iv
3.	 A&iii] B&ii] C&iv] D&i
4.	 A&ii] B&iii] C&iv] D&i
5.	 vuqÙkfjr ç'u

83.	 lwph&I vkSj lwph&II dk feyku dhft, vkSj uhps 
fn, x, dksM dk mi;ksx djds lgh mÙkj pqfu,%

lwph & I 
(vkS|ksfxd {ks=k)

lwph & II 
(çflf¼)

A. fo'kk•kiÙkue& 
xqaVwj {ks=k

i. tgkt fuekZ.k

B. vgenkckn& 
oMksnjk {ks=k

ii. peM+s ds lkeku] 
oL=k vkSj gLrf'kYiA

C. NksVkukxiqj 
vkS|ksfxd {ks=k

iii. dks;yk vkSj ykSg 
v;Ld

D. vkxjk&fnYyh& 
dkydk&lgk-
juiqj

iv. isVªksfy;e vkSj 
diM+k

	 dksM%
1.	 A&i] B&ii] C&iii] D&iv
2.	 A&i] B&iv] C&iii] D&ii
3.	 A&iv] B&ii] C&iii] D&i
4.	 A&iv] B&iii] C&ii] D&i
5.	 vuqÙkfjr ç'u
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84.	 Mahi Dhawal and Mahi Kanchan are 
varieties of which crop?
1.	 Wheat
2.	 Millet
3.	 Maize
4.	 Barley
5.	 Question not attempted

85.	 Match List-I & List-II & select the correct 
answer using the code given below :

List-I 
(Festival)

List-I  
Hindu Calendar Month

A. Sheetala 
Ashtami

i. Krishna Paksha 
Ashtami of 
Chaitra month

B. Kajali 
Teej 
(Bundi)

ii. Krishna Paksha 
Tritiya of 
Bhadrapad month

C.  Akshaya 
Tritiya

iii. Shukla Paksha 
Tritiya of 
Vaishaka month

D. Gangaur iv. Shukla Paksha 
Ekam of Chaitra 
month

	 Code:
1.	 A-i, B-ii, C-iii, D-iv
2.	 A-ii, B-i, C-iv, D-iii
3.	 A-ii, B-i, C-iii, D-iv
4.	 A-ii, B-i, C-iv, D-iii
5.	 Question not attempted

86.	 Chu-Sarysu basin in Kazakhstan, Athabasca 
Basin region and McArthur River basin in 
Canada are well known for their: 
1.	 Uranium deposits
2.	 Coal deposits 
3.	 Mica deposits 
4.	 Manganese deposits
5.	 Question not attempted

87.	 Match list-I & List-II & Select the correct 
answer using the code given below :

List-I (Saka) List-II (Year)
A. First Saka of 

Chittor
i. 1303

B. First Saka of 
Rajasthan

ii. 1301

84.	 ekgh èkoy vkSj ekgh dapu fdl iQly dh 
fdLesa gSa\
1.	 xsgw¡
2.	 cktjk
3.	 eDdk
4.	 tkS
5.	 vuqÙkfjr ç'u

85.	 lwph&I vkSj lwph&II dk feyku dhft, vkSj uhps 
fn, x, dwV dk mi;ksx djds lgh mÙkj pqfu,%

lwph & I 
(R;ksgkj)

lwph & II 
(fganw dSysaMj ekg)

A. 'khryk 
v"Veh

i. pkS=k ekl dh Ñ".k 
i{k v"Veh

B. dtyh rht 
(cwanh) 

ii. Hkkæin ekg dh Ñ".k 
i{k r`rh;k

C. v{k; r`rh;k iii. oS'kk• ekl dh 
'kqDy i{k r`rh;k

D. x.kxkSj iv. pkS=k ekl dk 'kqDy 
i{k ,de

	 dksM %
1.	 A&i] B&ii] C&iii] D&iv
2.	 A&ii] B&i] C&iv] D&iii
3.	 A&ii] B&i] C&iii] D&iv
4.	 A&ii] B&i] C&iv] D&iii
5.	 vuqÙkfjr ç'u

86.	 dtkfdLrku esa pw&lj;L;w csflu] vFkkckLdk 
csflu {ks=k vkSj dukMk esa eSdvkFkZj unh csflu 
fuEufyf•r ds fy, çfl¼ gSa%
1.	 ;wjsfu;e HkaMkj
2.	 dks;yk HkaMkj
3.	 vHkzd HkaMkj
4.	 eSaxuht HkaMkj
5.	 vuqÙkfjr ç'u

87.	 lwph&I vkSj lwph&II dk feyku dhft, vkSj uhps 
fn, x, dksM dk mi;ksx djds lgh mÙkj pqfu,%

lwph & I 
('kd)

lwph & II 
(o"kZ)

A. fpÙkkSM+ dk igyk lkdk i. 1303

B. jktLFkku dk igyk lkdk ii. 1301



© Copyright:  	 www.nextias.com(29 – A)

AAKALAN-I (Open Mock Test)

C. First Saka of 
Gagron

iii. 1423

D. Saka of Jalore iv. 1311

	 Code: 
1.	 A-i, B-ii, C-iii, D-iv
2.	 A-ii, B-i, C-iii, D-iv
3.	 A-iii, B-ii, C-i, D-iv
4.	 A-iv, B-ii, C-i, D-iii
5.	 Question not attempted

88.	 Which of the following statements is/are 
incorrect with reference to 'Biogas'?
1.	 It contains methane in the range of 90- 

95%.
2.	 It is produced when bacteria digest 

organic matter (biomass) in presence 
of Oxygen. 

3.	 Both 
4.	 None
5.	 Question not attempted

89.	 He was among the first in India to link 
Capitalism with Imperialism. He said 
"Militarism and Imperialism are twin 
children of Capitalism. Their shadow, their 
fruits and their barks are all poisonous". 
The above Passage refers to: 
1.	 Mahatma Gandhi
2.	 Lala lajpat Rai
3.	 Sardar vallabh Bhai Patel
4.	 Bal Gangadhar Tilak
5.	 Question not attempted

90.	 Identify the Incorrect option :
1.	 Akal Wood Fossil Park is located in 

Jaisalmer district.
2.	 Lathi Series located between Pokhran 

and Mohangarh in Jaisalmer.
3.	 Shifting sand dunes are known as 

Dhore and wavy type sand dunes are 
known as Dhariyan.

4.	 The hump belt of Rajasthan is found 
between the boundaries of Nagaur-
Ajmer.

5.	 Question not attempted

C. xkxjksu dk igyk lkdk iii. 1423
D. tkykSj dk 'kd iv. 1311

	 dksM %
1.	 A&i] B&ii] C&iii] D&iv
2.	 A&ii] B&i] C&iii] D&iv
3.	 A&iii] B&ii] C&i] D&iv
4.	 A&iv] B&ii] C&i] D&iii
5.	 vuqÙkfjr ç'u

88.	 ^ck;ksxSl* ds lanHkZ esa fuEufyf•r esa ls dkSu lk 
dFku xyr gS@gSa\
1.	 blesa 90&95» rd ehFksu gksrh gSA
2.	 ;g rc mRiUu gksrh gS tc cSDVhfj;k 

vkWDlhtu dh mifLFkfr esa dkcZfud inkFkZ 
(ck;ksekl) dks ipkrs gSaA

3.	 nksuksa
4.	 dksbZ ugha
5.	 vuqÙkfjr ç'u

89.	 os Hkkjr esa iwathokn dks lkezkT;okn ls tksM+us okys 
igys yksxksa esa ls FksA mUgksaus dgk] ¶lSU;okn vkSj 
lkezkT;okn iwathokn dh tqM+oka larkusa gSaA mudh 
Nk;k] muds iQy vkSj mudh Nky lHkh tgjhys 
gSaA¸

	 mijksDr vuqPNsn lanfHkZr djrk gS%
1.	 egkRek xkaèkh
2.	 ykyk yktir jk;
3.	 ljnkj oYyHk HkkbZ iVsy
4.	 cky xaxkèkj fryd
5.	 vuqÙkfjr ç'u

90.	 xyr fodYi igpkfu,%
1.	 vdky oqM thok'e ikdZ tSlyesj ftys esa 

fLFkr gSA
2.	 ykBh J`a•yk tSlyesj esa iks•j.k vkSj 

eksgux<+ ds chp fLFkr gSA
3.	 LFkkukarfjr jsr ds Vhyksa dks èkksjs ds uke ls 

tkuk tkrk gS vkSj ygjnkj jsr ds Vhyksa dks 
èkfj;ku ds uke ls tkuk tkrk gSA

4.	 jktLFkku dh gEi csYV ukxkSj&vtesj dh 
lhekvksa ds chp ikbZ tkrh gSA

5.	 vuqÙkfjr ç'u
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91.	 Statement: The district administration has 
issued a circular to all the farmers under 
its jurisdiction advising them not to use 
pesticides indiscriminately as it may pollute 
the groundwater. 
Assumptions: 
I.	 People may stop using ground water if 

the farmers continue to use pesticides 
indiscriminately. 

II.	 Farmers may refrain from using 
pesticides indiscriminately.

Select the Correct option : 
1.	 Only assumption I is implicit.
2.	 Only assumption II is implicit.
3.	 Both I and II are implicit
4.	 Neither I nor II is implicit
5.	 Question not attempted

92.	 Statement: Should the railways in India 
be privatized in a phased manner like other 
public sector enterprises ? 

	 Arguments: 

	 Yes. This is the only way to bring in 
competitiveness and provide better services 
to the public. 

	 No. This will pose a threat to the national 
security of our country as multinationals 
will enter into the fray. 
Select the Correct option : 
1.	 Only argument I is strong 
2.	 Only argument II is strong 
3.	 Both I and II are strong
4.	 Neither I nor II is strong
5.	 Question not attempted

93.	 Statement: Monitoring has become 
an integral part in the planning of 
social development programmes. It 
is recommended that Management 
Information System be developed for all 
programmes. This is likely to give feedback 
on the performance of the functionaries and 
the efficacy with which services are being 
delivered. 

91.	 dFku% ftyk ç'kklu us vius vfèkdkj {ks=k ds 
varxZr lHkh fdlkuksa dks ,d ifji=k tkjh fd;k 
gS ftlesa mUgsa dhVuk'kdksa dk vaèkkèkqaèk mi;ksx 
u djus dh lykg nh xbZ gS D;ksafd blls Hkwty 
çnwf"kr gks ldrk gSA

	 ekU;rk,a%

I.	 ;fn fdlku vaèkkèkqaèk rjhds ls dhVuk'kdksa 

dk ç;ksx djrs jgsaxs rks yksx Hkwty dk 
mi;ksx djuk can dj nsaxsA

II.	 fdlku dhVuk'kdksa dk vaèkkèkqaèk mi;ksx djus 
ls cpsaA

	 lgh fodYi pqusa%
1.	 dsoy èkkj.kk I varfuZfgr gSA
2.	 dsoy èkkj.kk II varfuZfgr gSA
3.	 I vkSj II nksuksa fufgr gSa
4.	 u rks I vkSj u gh II fufgr gS
5.	 vuqÙkfjr ç'u

92.	 dFku% D;k Hkkjr esa jsyos dk vU; lkoZtfud {ks=k 
ds m|eksa dh rjg pj.kc¼ rjhds ls futhdj.k 
fd;k tkuk pkfg,\

	 rdZ%

	 gka& çfrLièkkZ ykus vkSj turk dks csgrj lsok,a 
çnku djus dk ;gh ,dek=k rjhdk gSA

	 ugha& blls gekjs ns'k dh jk"Vªh; lqj{kk dks •rjk 
iSnk gks tk,xk D;ksafd cgqjk"Vªh; daifu;ka bl {ks=k 
esa mrj tk,axhA

	 lgh fodYi pqusa%
1.	 dsoy rdZ I etcwr gS
2.	 dsoy rdZ II etcwr gS
3.	 I vkSj II nksuksa etcwr gSa
4.	 u rks I vkSj u gh II etcwr gS
5.	 vuqÙkfjr ç'u

93.	 dFku% lkekftd fodkl dk;ZØeksa dh ;kstuk 
esa fuxjkuh ,d vfHkUu vax cu xbZ gSA ;g 
vuq'kalk dh tkrh gS fd lHkh dk;ZØeksa ds fy, 
çca/u lwpuk ç.kkyh fodflr dh tk,A blls 
inkfèkdkfj;ksa ds çn'kZu vkSj ftl çHkkodkfjrk ds 
lkFk lsok,a çnku dh tk jgh gSa] ml ij iQhMcSd 
feyus dh laHkkouk gSA
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Conclusions: 
I.	 All the social development programmes 

should be evaluated. 
II.	 There is a need to monitor the 

performance of workers.
Select the Correct option : 
1.	 Only conclusion I follows 
2.	 Only conclusion II follows 
3.	 Both I and II follow
4.	 Neither I nor II follows 
5.	 Question not attempted

94.	 Statement: There has been a significant 
drop in the water level of all the lakes 
supplying water to the city. 
Courses of Action: 
I.	 The water supply authority should 

impose a partial cut in supply to tackle 
the situation. 

II.	 The government should appeal to all 
the residents through mass media for 
minimal use of water.

Select the Correct option : 
1.	  Only I follows 
2.	 Only II follows 
3.	 Both I and II follow
4.	 Neither I nor II follows 
5.	 Question not attempted

95.	 Rajat said to Rahul “The boy in the blue 
shirt is the younger of the two brothers of 
the daughter of my father's wife”. How is 
the boy in the blue shirt related to Rajat ?
1.	  Father 
2.	 Brother 
3.	 Uncle
4.	 Nephew
5.	 Question not attempted

96.	 In the following question, select the missing 
number from the given series, 34, 69, 140, 
283, ?, 1145 
1.	 530 
2.	 425 
3.	 320 
4.	 570 
5.	 Question not attempted

	 fu"d"kZ% 
I.	 lHkh lkekftd fodkl dk;ZØeksa dk 

ewY;kadu fd;k tkuk pkfg,A 
II.	 dk;ZdrkZvksa ds çn'kZu ij utj j•us dh 

t:jr gS-

	 lgh fodYi pqusa% 
1.	 dsoy fu"d"kZ I vuqlj.k djrk gS 
2.	 dsoy fu"d"kZ II vuqlj.k djrk gS 
3.	 I vkSj II nksuksa vuqlj.k djrs gSa
4.	 u rks I vkSj u gh II vuqlj.k djrk gS 
5.	 vuqÙkfjr ç'u

94.	 dFku% 'kgj dks ikuh dh vkiwfrZ djus okyh lHkh 
>hyksa ds ty Lrj esa mYys•uh; fxjkoV vkbZ gSA

	 D;k & D;k dne% 
I.	 fLFkfr ls fuiVus ds fy, ty vkiwfrZ 

çkfèkdj.k dks vkiwfrZ esa vkaf'kd dVkSrh 
djuh pkfg,A

II.	 ljdkj dks tulapkj ekè;eksa ds ekè;e ls 
lHkh fuokfl;ksa ls ikuh dk U;wure mi;ksx 
djus dh vihy djuh pkfg,A

	 lgh fodYi pqusa%
1.	 dsoy I vuqlj.k djrk gS
2.	 dsoy II vuqlj.k djrk gS
3.	 I vkSj II nksuksa vuqlj.k djrs gSa
4.	 u rks I vkSj u gh II vuqlj.k djrk gS
5.	 vuqÙkfjr ç'u

95.	 jtr us jkgqy ls dgk ¶uhyh 'kVZ okyk yM+dk esjs 
firk dh iRuh dh csVh ds nks Hkkb;ksa esa ls NksVk 
gS¸A uhyh 'kVZ okyk yM+dk jtr ls fdl çdkj 
lacafèkr gS\
1.	 firk
2.	 HkkbZ
3.	 pkpk
4.	 Hkrhtk
5.	 vuqÙkfjr ç'u

96.	 fuEufyf•r ç'u esa] nh xbZ J`a•yk ls yqIr la[;k 
dk p;u djsa] 34] 69] 140] 283] \] 1145
1.	 530
2.	 425
3.	 320
4.	 570
5.	 vuqÙkfjr ç'u
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97.	 Consider the following statements and 
conclusions: 
Statements: 
A.	 Some strawberries are bananas. 
B.	 All bananas are avocados. 
C.	  Some avocados are grapes. 
Conclusion: 
I.	 Some grapes are bananas. 
II.	 Some avocados are strawberries. 

	 Select the correct answer using the code 
given below: 
1.	 Both Conclusion I and II follow 
2.	 Neither Conclusion I nor II follow 
3.	 Only Conclusion I follows 
4.	 Only Conclusion II follows
5.	 Question not attempted

98.	 If 'gnr tag zog qmp' stands for 'Paris 
Olympic Organising Committee', ‘hyto gnr 
emf’ stands for ‘Summer Olympic Games' 
and 'esm sdr hyto' stands for ‘Modern 
Games History', which would be the code 
for Summer? 
1.	 hyto 
2.	 gnr
3.	 emf 
4.	 Zog
5.	 Question not attempted

99.	 Going 50m to the south of his house, Rohan 
turns left and goes another 20m. Then 
turning to the North, He goes 30m and 
then starts walking to his house. In which 
direction is he walking now?
1.	 North
2.	 East
3.	 North-west
4.	 South-east
5.	 Question not attempted

100.	 Select the option that most closely resembles 
the mirror image of the given word when 
the mirror is placed vertically on right:

Te29EKP
1.	
2.	
3.	
4.	
5.	 Question not attempted

97.	 fuEufyf•r dFkuksa vkSj fu"d"kks± ij fopkj djsa%
	 dFku%

A.	  dqN LVªkWcsjh dsys gSaA
B.	  lHkh dsys ,oksdkMks gSaA
C.	  dqN ,oksdkMks vaxwj gSaA

	 fu"d"kZ%
	 I. dqN vaxwj dsys gSaA
	 II. dqN ,oksdkMks LVªkWcsjh gSaA
	 uhps fn, x, dksM dk mi;ksx djds lgh mÙkj 

pqusa%
1.	 fu"d"kZ I vkSj II nksuksa vuqlj.k djrs gSa
2.	 u rks fu"d"kZ I vkSj u gh II vuqlj.k djrk gS
3.	 dsoy fu"d"kZ I vuqlj.k djrk gS
4.	 dsoy fu"d"kZ II vuqlj.k djrk gS
5.	 vuqÙkfjr ç'u

98.	 ;fn ^gnr   tag zog qmp* dk vFkZ ^isfjl 
vksyafid vk;kstu lfefr* gS] 'hyto gnr emf' 
dk vFkZ ^xzh"edkyhu vksyafid •sy* gS vkSj 
'esm sdr hyto' dk vFkZ ^vkèkqfud •sy bfrgkl* 
gS] rks xzh"edky ds fy, dkSu lk dksM gksxk\
1.	 hyto 
2.	 gnr
3.	 emf 
4.	 Zog
5.	 vuqÙkfjr ç'u

99.	 vius ?kj ls 50 ehVj nf{k.k dh vksj pyrs gq,] 
jksgu ck;ha vksj eqM+rk gS vkSj 20 ehVj vkSj 
pyrk gSA fiQj mÙkj dh vksj eqM+dj] og 30 
ehVj pyrk gS vkSj fiQj vius ?kj dh vksj pyuk 
'kq: djrk gSA vc og fdl fn'kk esa py jgk gS\
1.	 mÙkj
2.	 iwoZ
3.	 mÙkj&if'pe
4.	 nf{k.k iwoZ
5.	 vuqÙkfjr ç'u

100.	 ml fodYi dk p;u djsa tks fn, x, 'kCn dh 
niZ.k Nfo ls lcls vfèkd feyrk tqyrk gks] tc 
niZ.k dks nk,¡ vksj yacor j•k tk,%

Te29EKP
1.	
2.	
3.	
4.	
5.	 vuqÙkfjr ç'u
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101.	 The letters from A to Z are numbered from 
1 to 26. If DCHB = 533, RMKF = 2814, 
then what is WYJH equal to?
1.	 6754 
2.	 5744 
3.	 4754 
4.	 3754
5.	 Question not attempted

102.	 How many triangles and squares are in the 
given figure. 

1.	 22 triangles, 7 squares
2.	 21 triangles, 7 squares 
3.	 20 triangles, 8 squares 
4.	 18 triangles, 8 squares 
5.	 Question not attempted

103.	 If Rohan played 25 singles badminton 
matches and won 17 out of these. If there 
were no tied or drawn matches, then what is 
the ratio of the number of matches won by 
Rohan to the number of matches he lost? 
1.	 25:17 
2.	 17:25 
3.	 8:17 
4.	 17:8
5.	 Question not attempted

104.	 A person bought a cycle for Rs. 10,000 and 
paid some extra 600 Rs for its repair works. 
He sold the cycle for Rs. 12,000. Find the 
profit percentage? 
1.	 10.11% 
2.	 11.11% 
3.	 21.11% 
4.	 11%
5.	 Question not attempted

105.	 If an amount doubles itself in 5 years, then 
in how many years will it be 8 times of the 
original amount, if it grows with an interest 
rate compounded annually? 
1.	 20 years 
2.	 15 years 

101.	 A ls Z rd ds v{kjksa dks 1 ls 26 rd Øekafdr 
fd;k x;k gSA ;fn DCHB ¾ 533] RMKF ¾ 
2814] rks WYJH fdlds cjkcj gS\
1.	 6754
2.	 5744
3.	 4754
4.	 3754
5.	 vuqÙkfjr ç'u

102.	 nh xbZ vkÑfr esa fdrus f=kHkqt vkSj oxZ gSa\

1.	 22 f=kdks.k] 7 oxZ
2.	 21 f=kdks.k] 7 oxZ
3.	 20 f=kdks.k] 8 oxZ
4.	 18 f=kdks.k] 8 oxZ
5.	 vuqÙkfjr ç'u

103.	 ;fn jksgu us 25 ,dy cSMfeaVu eSp •sys vkSj 
buesa ls 17 thrsA ;fn dksbZ eSp cjkcjh ij ;k 
Mªk ij ugha jgk] rks jksgu }kjk thrs x, eSpksa dh 
la[;k vkSj mlds }kjk gkjs x, eSpksa dh la[;k 
dk vuqikr D;k gS\
1.	 25%17
2.	 17%25
3.	 8%17
4.	 17%8
5.	 vuqÙkfjr ç'u

104.	 ,d O;fDr us 10]000 #i;s esa ,d lkbfdy 
•jhnh vkSj mldh ejEer ds fy, 600 #i;s 
vfrfjDr fn,A mlus lkbfdy dks 12]000 #i;s 
esa csp fn;kA ykHk çfr'kr Kkr dhft,\
1.	 10-11»
2.	 11-11»
3.	 21-11»
4.	 11»
5.	 vuqÙkfjr ç'u

105.	 ;fn dksbZ èkujkf'k 5 o"kZ esa nksxquh gks tkrh gS] 
rks fdrus o"kks± esa og ewy èkujkf'k dh 8 xquk 
gks tk,xh] ;fn og okf"kZd la;ksftr C;kt nj ls 
c<+rh gS\
1.	 20 o"kZ
2.	 15 o"kZ
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3.	 25 years 
4.	 12 years
5.	 Question not attempted

106.	 In how many different ways can four books 
A, B, C and D be arranged one above another 
in a vertical order such that the books A and 
B are never in continuous position ?
1.	 10
2.	 12
3.	 14
4.	 16
5.	 Question not attempted

107.	 If a card is drawn from a pack of cards, 
What is the probability of drawing a spade 
or a king?
1.	 11/26 
2.	 4/13 
3.	 13/52 
4.	 11/52
5.	 Question not attempted

(108-109) Consider the given information and 
answer the two items that follow: 
In the following charts, the first pie-chart shows the 
percentage distribution of total students studying in 
different schools and the second pie-chart shows 
the percentage distribution of total girl students 
studying in these schools. 
Total number of students in all the schools together 
is 30000 and the ratio of boys to girls is 3:2. 

3.	 25 o"kZ
4.	 12 o"kZ
5.	 vuqÙkfjr ç'u

106.	 pkj iqLrdksa A] B] C vkSj D dks ,d ds Åij 
,d ÅèokZèkj Øe esa fdrus fofHkUu rjhdksa ls 
O;ofLFkr fd;k tk ldrk gS] ftlls iqLrdsa A 
vkSj B dHkh Hkh fujarj fLFkfr esa u gksa\
1.	 10
2.	 12
3.	 14
4.	 16
5.	 vuqÙkfjr ç'u

107.	 ;fn rk'k ds ,d iSdsV ls ,d iÙkk fudkyk tkrk 
gS] rks gqdqe ;k jktk fudyus dh çkf;drk D;k gS\
1.	 11@26
2.	 4@13
3.	 13@52
4.	 11@52
5.	 vuqÙkfjr ç'u

(ç'u 108&109) nh xbZ tkudkjh ij fopkj dhft, 
vkSj mlds ckn vkus okys nks ç'uksa ds mÙkj nhft,%
fuEufyf•r pkVZ esa] igyk ikbZ&pkVZ fofHkUu Ldwyksa esa 
i<+us okys dqy Nk=kksa ds çfr'kr forj.k dks n'kkZrk gS vkSj 
nwljk ikbZ&pkVZ bu Ldwyksa esa i<+us okyh dqy Nk=kkvksa ds 
çfr'kr forj.k dks n'kkZrk gSA
lHkh Ldwyksa esa fo|kfFkZ;ksa dh dqy la[;k 30000 gS rFkk 
yM+dksa dk yM+fd;ksa ls vuqikr 3%2 gSA
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108.	 Ldwy D esa i<+us okys yM+dksa dh dqy la[;k vkSj 
yM+fd;ksa dh dqy la[;k ds chp D;k varj gS\
1.	 2020
2.	 2040
3.	 2066
4.	 2680
5.	 vuqÙkfjr ç'u

109.	 Ldwy A] B vkSj C esa i<+us okys yM+dksa dh la[;k 
dk vkSlr D;k gS\
1.	 2150
2.	 2200
3.	 2350
4.	 2400
5.	 vuqÙkfjr ç'u

110.	 ,d dksYM LVksjst dh yackbZ mldh pkSM+kbZ ls 
nksxquh gSA bldh ÅapkbZ 3 ehVj gSA bldh pkjksa 
nhokjksa (njoktksa lfgr) dk {ks=kiQy 108 ehVj2 
gS A bldk vk;ru Kkr dhft,
1.	 216 eh3

2.	 225 eh3

3.	 125 eh3

4.	 256 eh3

5.	 vuqÙkfjr ç'u

111.	 fuEufyf•r esa ls dkSu lk fodYi muds HkaMkj.k 
vkdkj ds vojksgh Øe esa O;ofLFkr gS\
1.	 ,ech] dsch] ckbV] fucy
2.	 fucy] dsch] ,ech] thch
3.	 fcV] ,ech] fucy] dsch
4.	 fcV] thch] dsch] ,ech
5.	 vuqÙkfjr ç'u

112.	 lwph&I vkSj lwph&II dk feyku djsa vkSj uhps 
fn, x, dksM dk mi;ksx djds lgh mÙkj pqusa%&

lwph & I 
(vH;kl dk uke)

lwph & II 
(Hkkx ysus okyk ns'k)

A. fe=k 'kfDr i. Jhyadk
B. ;q¼ vH;kl ii. ;w,l,
C. gkFk esa gkFk iii. phu
D. baæ iv. :l

108.	 What is the difference between the total 
number of boys and the total number of 
girls studying in School D? 
1.	 2020 
2.	 2040 
3.	 2066 
4.	 2680
5.	 Question not attempted

109.	 What is the average of the number of boys 
studying in school A, B and C? 
1.	 2150 
2.	 2200 
3.	 2350 
4.	 2400
5.	 Question not attempted

110.	 The length of a cold storage is double its 
breadth. Its height is 3 m. The area of its 
four walls (including the doors) is 108 m2. 
Find its volume
1.	 216 m3 
2.	 225 m3 
3.	 125 m3 
4.	 256 m3 
5.	 Question not attempted

111.	 Which of the following options is arranged 
in descending order of their storage size?
1.	 MB, KB, Byte, Nibble
2.	 Nibble, KB, MB, GB 
3.	 Bit, MB, Nibble, KB 
4.	 Bit, GB, KB, MB
5.	 Question not attempted

112.	 Match List-I & List-II and select the correct 
answer using the code given below :-

List-I  
(Exercise Name)

List-II 
(Participating 

Country)
A. Mitra Shakti i. Sri Lanka
B. Yudh Abhyas ii. USA
C. Hand-in-Hand iii. China
D. Indra iv. Russia
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	 dksM %
1.	 A&i] B&ii] C&iii] D&iv
2.	 A&iii] B&ii] C&i] D&iv
3.	 A&iii] B&ii] C&iv] D&i
4.	 A&i] B&iii] C&ii] D&iv
5.	 vuqÙkfjr ç'u

113.	 ,d fookfgr nEifr ,d yM+ds dks xksn ysrs 
gSaA dqN o"kZ ckn] muds tqM+ok¡ yM+ds iSnk gksrs 
gSaA nEifr dk jDr lewg AB ikWftfVo vkSj O 
usxsfVo gSA rhuksa csVksa dk jDr lewg A ikWftfVo] 
B ikWftfVo vkSj O ikWftfVo gSA xksn fy, x, csVs 
dk jDr lewg D;k gS\
1.	 O ikWftfVo
2.	 A ldkjkRed
3.	 B ikWftfVo
4.	 fn, x, MsVk ds vkèkkj ij fuèkkZfjr ugha 

fd;k tk ldrk
5.	 vuqÙkfjr ç'u

114.	 lwph&I vkSj lwph&II dk feyku djsa vkSj uhps 
fn, x, dwV dk mi;ksx djds lgh mÙkj pqusa%&

lwph & I 
(jksx)

lwph & II 
(dkjd)

A. eysfj;k i. çksVkstksvk
B. Msaxw ii. cSDVhfj;k
C. isfIVd vYlj iii. ok;jl
D. gkFkh ikao iv. Ñfe

	 dksM %
1.	 A&i] B&ii] C&iii] D&iv
2.	 A&i] B&iii] C&ii] D&iv
3.	 A&i] B&iii] C&iv] D&iii
4.	 A&i] B&ii] C&iv] D&iii
5.	 vuqÙkfjr ç'u

115.	 lwph&I vkSj lwph&II dk feyku djsa vkSj uhps 
fn, x, dksM dk mi;ksx djds lgh mÙkj pqusa%&

lwph & I 
(d{kk dk çdkj)

lwph & II 
(mi;ksx)

A. HkwfLFkj i`Foh 
d{kk (thbZvks)

i. nwjlapkj ç;kstu

B. lw;Z rqY;dkfyd 
d{kk (,l,lvks)

ii. taxy dh vkx 
dh fuxjkuh 
djuk

	 Code:
1.	 A-i, B-ii, C-iii, D-iv
2.	 A-iii, B-ii, C-i, D-iv
3.	 A-iii, B-ii, C-iv, D-i
4.	 A-i, B-iii, C-ii, D-iv
5.	 Question not attempted

113.	 A married couple adopt a male child. A 
few years later, twin boys were born to 
them. The blood group of the couple is AB 
positive and O negative. The blood group of 
the three sons is A positive, B positive and 
O positive. The blood group of the adopted 
son is?
1.	 O Positive 
2.	 A positive 
3.	 B positive 
4.	 Can't be determined based on the given 

data
5.	 Question not attempted

114.	 Match List-I and List-II and select the 
correct answer using the code given below:-

List-I 
(Disease)

List-II  
(Factors)

A. Malaria i. Protozoa 
B. Dengue ii. Bacteria 
C. Peptic Ulcer iii. Virus 
D. Elephant Foot iv. Worm

	 Code:
1.	 A-i, B-ii, C-iii, D-iv
2.	 A-i, B-iii, C-ii, D-iv
3.	 A-i, B-iii, C-iv, D-iii
4.	 A-i, B-ii, C-iv, D-iii
5.	 Question not attempted

115.	 Match List-I & List-II and select the correct 
answer using the code given below :-

List-I  
(Type of orbit)

List-II 
(Mostly  

used for)
A. Geostationary 

Earth Orbit 
(GEO)

i. Telecomm- 
unication 
purposes 

B. SunSynchronous 
Orbit (SSO) 

ii. To monitor 
forest fires 
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C. Low Earth Orbit 
(LEO) 

iii. Satellite 
imaging 

D. Geostationary 
transfer orbit 
(GTO) 

iv. To transfer 
satellites from 
one orbit to 
another.

	 Code:
1.	 A-i, B-ii, C-iii, D-iv
2.	 A-i, B-iii, C-ii, D-iv
3.	 A-ii, B-i, C-iii, D-iv
4.	 A-ii, B-i, C-iv, D-iii
5.	 Question not attempted

116.	 Consider the following pairs:

Common Name Chemical Name
A. Washing Soda Sodium carbonate
B. Baking Soda Sodium Hydrogen 

Carbonate
C. Common Salt Sodium Chloride

	 Which of the pairs given above is/are 
correctly matched ?
1.	 A only
2.	 A & B only 
3.	 B & C only 
4.	 All are correct
5.	 Question not attempted

117.	 The minimum height of a plane mirror to 
see the full size of image of person is equal 
to 
1.	 Half the height of the person
2.	 The height of the person
3.	 One-fourth the height of the person
4.	 Double the height of the person
5.	 Question not attempted

118.	 What does ‘Ecocide’ mean ? 
1.	 It is a wildlife conservation programme 

which aims at protecting endangered 
species. 

2.	 Intentional destruction of the 
environment, causing significant harm 
to the ecosystem and biodiversity. 

3.	 It is a recreational outdoor sport that 
promotes environmental awareness. 

4.	 It is an eco-friendly technique to clean 
water. 

5.	 Question not attempted

C. fuEu i`Foh d{kk 
(LEO)

iii. mixzg besftax

D. HkwfLFkj LFkkukarj.k 
d{kk (thVhvks)

iv. mixzgksa dks 
,d d{kk ls 
nwljh d{kk 
esa LFkkukarfjr 
djukA

	 dksM %
1.	 A&i] B&ii] C&iii] D&iv
2.	 A&i] B&iii] C&ii] D&iv
3.	 A&ii] B&i] C&iii] D&iv
4.	 A&ii] B&i] C&iv] D&iii
5.	 vuqÙkfjr ç'u

116.	 fuEufyf•r ;qXeksa ij fopkj djsa%

lkekU; uke jklk;fud uke
A. okf'kax lksMk lksfM;e dkckZsusV
B. csfdax lksMk lksfM;e gkbMªkstu 

dkckZsusV
C. lkèkkj.k ued lksfM;e DyksjkbM

	 mi;ZqDr esa ls dkSu lk@ls ;qXe lgh lqesfyr gS@gSa \
1.	 dsoy A
2.	 dsoy A vkSj B
3.	 dsoy B vkSj C
4.	 lHkh lgh gSa
5.	 vuqÙkfjr ç'u

117.	 fdlh O;fDr dh iw.kZ vkdkj dh Nfo ns•us ds 
fy, lery niZ.k dh U;wure ÅapkbZ cjkcj gksrh gS
1.	 O;fDr dh vkèkh ÅapkbZ
2.	 O;fDr dh ÅapkbZ
3.	 O;fDr dh ÅapkbZ dk ,d&pkSFkkbZ
4.	 O;fDr dh ÅapkbZ ls nqxquh
5.	 vuqÙkfjr ç'u

118.	 ^bdkslkbM* dk D;k vFkZ gS\
1.	 ;g ,d oU;tho laj{k.k dk;ZØe gS ftldk 

mís'; yqIrçk; çtkfr;ksa dh j{kk djuk gSA
2.	 i;kZoj.k dk tkucw>dj fouk'k] ftlls 

ikfjfLFkfrdh ra=k vkSj tSo fofoèkrk dks 
dkiQh uqdlku igq¡prk gSA

3.	 ;g ,d euksjatd vkmVMksj •sy gS tks 
i;kZoj.k tkx:drk dks c<+kok nsrk gSA

4.	 ;g ikuh dks lkiQ djus dh ,d 
i;kZoj.k&vuqdwy rduhd gSA

5.	 vuqÙkfjr ç'u
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119.	 Which of the following statements is/are 
correct regarding Ozone layer depletion ?
1.	 Vienna Convention : UN members 

recognized the importance of 
preventing damage to the ozone layer.

2.	 Montreal Protocol : To control 
the consumption & production of 
anthropogenic ODSs and some HFCs

3.	 Kigali Amendment : To phase 
down climate damaging refrigerant 
Hydrofluorocarbons.

4.	 All are correct
5.	 Question not attempted

120.	 The Brundtland Report, sometimes in news 
is primarily related to – 
1.	 Space debris management 
2.	 Nuclear waste management 
3.	 Protection of Human rights
4.	 Sustainable Development
5.	 Question not attempted

121.	 How many female members were there in 
the Constituent Assembly ?
1.	 11
2.	 13
3.	  15
4.	 20
5.	 Question not attempted

122.	 Consider the following statements in respect 
of the Constitution Day: 

	 Statement-I: The Constitution Day is 
celebrated on 26th November every year 
to promote constitutional values among 
citizens. 

	 Statement-II: On 26th November, 1949, 
the Constituent Assembly of India set up a 
Drafting Committee under the Chairmanship 
of Dr. B. R. Ambedkar to prepare a Draft 
Constitution of India. 

	 Which one of the following is correct in 
respect of the above statements? 
1.	 Both Statement-I and Statement-II are 

correct and Statement-I is the correct 
explanation for Statement-I.

2.	 Both Statement-I and Statement-II 
are correct and Statement-II is not the 
correct explanation for Statement-I. 

3.	 Statement-I is correct but Statement-II 
is incorrect.

119.	 vkstksu ijr {kj.k ds lacaèk esa fuEufyf•r esa ls 
dkSu lk@ls dFku lgh gS@gSa\
1.	 fo;uk dUosa'ku% la;qDr jk"Vª ds lnL;ksa us 

vkstksu ijr dks gksus okys uqdlku dks jksdus 
ds egRo dks ekU;rk nhA

2.	 ekWfUVª;y çksVksdkWy% ekuotfur vksMh,l 
vkSj dqN ,p,iQlh ds miHkksx vkSj mRiknu 
dks fu;af=kr djuk

3.	 fdxkyh la'kksèku% tyok;q dks uqdlku 
igqapkus okys jsfÚtjsaV gkbMªksÝyksjksdkcZu dks 
pj.kc¼ rjhds ls de djukA

4.	 lHkh lgh gSa
5.	 vuqÙkfjr ç'u

120.	 dHkh&dHkh •cjksa esa jgus okyh C#UMySaM fjiksVZ 
eq[; :i ls fdlls lacafèkr gS\
1.	 varfj{k eyck çcaèku
2.	 ijek.kq vif'k"V çcaèku
3.	 ekuo vfèkdkjksa dk laj{k.k
4.	 lrr fodkl
5.	 vuqÙkfjr ç'u

121.	 lafoèkku lHkk esa fdruh efgyk lnL; Fkha\
1.	 11
2.	 13 
3.	 15
4.	 20
5.	 vuqÙkfjr ç'u

122.	 lafoèkku fnol ds lacaèk esa fuEufyf•r dFkuksa ij 
fopkj djsa%

	 dFku&I% ukxfjdksa ds chp laoSèkkfud ewY;ksa dks 
c<+kok nsus ds fy, gj lky 26 uoacj dks 
lafoèkku fnol euk;k tkrk gSA

	 dFku&II% 26 uoacj] 1949 dks Hkkjr dh lafoèkku 
lHkk us Hkkjr ds lafoèkku dk elkSnk rS;kj djus 
ds fy, MkW- ch-vkj- vacsMdj dh vè;{krk esa 
,d elkSnk lfefr dk xBu fd;kA

	 mi;ZqDr dFkuksa ds lacaèk esa fuEufyf•r esa ls 
dkSu lk lgh gS\
1.	 dFku&I vkSj dFku&II nksuksa lgh gSa vkSj 

dFku&I] dFku&I dk lgh Li"Vhdj.k gSA
2.	 dFku&I vkSj dFku&II nksuksa lgh gSa vkSj 

dFku&II] dFku&I dk lgh Li"Vhdj.k ugha gSA
3.	 dFku&I lgh gS ysfdu dFku&II xyr gSA
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4.	 Statement-I is incorrect but Statement-
II is correct.

5.	 Question not attempted

123.	 Which of the following can be amended 
using only a simple majority ?
1.	 Fundamental Rights
2.	 Election of the President
3.	 Representation of states in parliament 
4.	 Admission of new states
5.	 Question not attempted

124.	 In which case did the Supreme Court first 
recognize the 'Preamble' as part of the 
Indian Constitution ?
1.	 Berubari Union Case, 1960
2.	 Kesavananda Bharati Case, 1973
3.	 LIC of India Case, 1995
4.	 Golaknath & Others v State of Punjab 

and Anrs.
5.	 Question not attempted

125.	 With reference to the Indian Polity, Consider 
the following statements : 
A.	 The right to vote is a fundamental right 

available to citizens of India. 
B.	 The right to property is a legal right 

exercised by Indian citizens. 
C.	 The right to privacy which has been 

recently recognized as a fundamental 
right is available only to the Indian 
citizens.

Select the correct options : 
1.	 A & B only 
2.	 B only 
3.	 B & C only 
4.	 All are correct 
5.	 Question not attempted

126.	 Which of the following Directive Principles 
of State Policy (DPSPs) were added by the 
42nd CAA ?
A.	 To emphasize the importance of 

providing opportunities and a healthy 
environment for children to develop 
and reach their full potential.

B.	 To take steps to secure the participation 
of workers in the management of 
industries.

4.	 dFku&I xyr gS ysfdu dFku&II lgh gSA
5.	 vuqÙkfjr ç'u

123.	 fuEufyf•r esa ls fdls dsoy lkèkkj.k cgqer ls 
la'kksfèkr fd;k tk ldrk gS\
1.	 ekSfyd vfèkdkj
2.	 jk"Vªifr dk pquko
3.	 laln esa jkT;ksa dk çfrfufèkRo
4.	 u;s jkT;ksa dk ços'k
5.	 vuqÙkfjr ç'u

124.	 fdl ekeys esa lokZsPp U;k;ky; us igyh ckj 
^çLrkouk* dks Hkkjrh; lafoèkku ds Hkkx ds :i 
esa ekU;rk nh Fkh\
1.	 cs#ckjh ;wfu;u dsl] 1960
2.	 ds'kokuan Hkkjrh dsl] 1973
3.	 ,yvkbZlh vkWiQ bafM;k dsl] 1995
4.	 xksydukFk ,oa vU; cuke iatkc jkT; ,oa 

vU;A
5.	 vuqÙkfjr ç'u

125.	 Hkkjrh; jktO;oLFkk ds lanHkZ esa] fuEufyf•r 
dFkuksa ij fopkj dhft,%
(a)	 oksV dk vfèkdkj Hkkjr ds ukxfjdksa dks 

miyCèk ,d ekSfyd vf/dkj gSA
(b)	 laifÙk dk vf/dkj Hkkjrh; ukxfjdksa }kjk 

ç;ksx fd;k tkus okyk ,d dkuwuh vf/dkj gSA
(c)	 xksiuh;rk dk vf/dkj ftls gky gh esa 

ekSfyd vf/dkj ds :i esa ekU;rk nh xbZ gS] 
dsoy Hkkjrh; ukxfjdksa ds fy, miyC/ gSA

	 lgh fodYi pqusa %
1.	 dsoy A vkSj B
2.	 dsoy B
3.	 dsoy B vkSj C
4.	 lHkh lgh gSa
5.	 vuqÙkfjr ç'u

126.	 fuEufyf•r esa ls dkSu ls jkT; uhfr funZs'kd 
fl¼kar (DPSP) 42osa CAA }kjk tksM+s x, Fks\
A	 cPpksa dks fodflr gksus vkSj viuh iwjh 

{kerk rd igqapus ds fy, volj vkSj LoLFk 
okrkoj.k çnku djus ds egRo ij tksj nsuk A

B.	 m|ksxksa ds çca/u esa Jfedksa dh Hkkxhnkjh 
lqfuf'pr djus ds fy, dne mBkukA
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C.	 ;g lqfuf'pr djuk fd çR;sd O;fDr dks 
fu%'kqYd dkuwuh lgk;rk vkSj dkuwuh çfØ;k 
rd igqap dk vf/dkj gksA

D.	 vk;] fLFkfr] lqfo/kvksa vkSj voljksa esa 
vlekurkvksa dks de djukA

	 lgh fodYi pqusa %
1.	 dsoy A vkSj B
2.	 dsoy A] B vkSj C
3.	 dsoy A] C vkSj D 
4.	 lHkh lgh gSa
5.	 vuqÙkfjr ç'u

127.	 Hkkjr ds lafo/ku ds Hkkx IVA esa fufgr ekSfyd 
drZO;ksa ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
djsa%

	 dFku&I% ekSfyd drZO; U;k;ky;ksa dks fdlh 
dkuwu dh laoS/kfud oS/rk dk vkdyu djus 
vkSj fu/kZj.k djus esa lgk;rk djrs gSaA

	 dFku&II% ekSfyd drZO; lekt dh HkykbZ ds 
fy, dkuwu vkSj uhfr;ksa dks vkdkj nsus esa dkuwu 
fuekZrkvksa vkSj uhfr fuekZrkvksa ds fy, ekxZn'kZd 
fl¼kar ds :i esa dk;Z djrs gSaA

	 mi;ZqDr dFkuksa ds laca/ esa fuEufyf•r esa ls 
dkSu lk lgh gS\
1.	 dFku&I vkSj dFku&II nksuksa lgh gSa vkSj 

dFku&II] dFku&I dk lgh Li"Vhdj.k gSA
2.	 dFku&I vkSj dFku&II nksuksa lgh gSa vkSj 

dFku&II] dFku&I dk lgh Li"Vhdj.k ugha 
gSA

3.	 dFku&I lgh gS ysfdu dFku&II xyr gSA
4.	 dFku&I xyr gS ysfdu dFku&II lgh gSA
5.	 vuqÙkfjr ç'u

128.	 fuEufyf•r esa ls dkSu jk"Vªh; ekuokf/dkj vk;ksx 

dk insu lnL; ugha gS\

1.	 jk"Vªh; efgyk vk;ksx dh vè;{k

2.	 jk"Vªh; vYila[;d vk;ksx ds vè;{k

3.	 fodykax O;fDr;ksa ds fy, eq[; vk;qDr

4.	 jk"Vªh; o`¼tu vk;ksx ds vè;{k

5.	 vuqÙkfjr ç'u

C.	 To ensure that everyone has the right 
to free legal aid and access to the legal 
process.

D.	 To reduce inequalities in income, 
status, facilities, and opportunities.

	 Select the Correct Options : 
1.	 Only A & B
2.	 Only A, B & C
3.	 Only A, C & D
4.	 All are correct
5.	 Question not attempted

127.	 Consider the following statements with 
reference to Fundamental Duties enshrined 
in Part IVA of the Constitution of India : 

	 Statement-I: Fundamental duties assist the 
Courts in assessing and determining the 
constitutional validity of a law. 

	 Statement-II: Fundamental duties serve 
as guiding principles for lawmakers and 
policymakers in shaping laws and policies 
for the betterment of society.

	 Which one of the following is correct in 
respect of the above statements? 
1.	 Both Statement-I and Statement-II are 

correct and Statement-II is the correct 
explanation for Statement-I. 

2.	 Both Statement-I and Statement-II 
are correct and Statement-II is not the 
correct explanation for Statement-I. 

3.	 Statement-I is correct but Statement-II 
is incorrect. 

4.	 Statement-I is incorrect but Statement-
II is correct.

5.	 Question not attempted

128.	 Which of the following is not one of the ex-
officio member of National Human Rights 
Commission : 
1.	 Chairperson of National Commission 

for Women
2.	 Chairperson of National Commission 

for minorities
3.	 Chief Commissioner for person with 

disabilities
4.	 Chairperson of National Commission 

for Elderly 
5.	 Question not attempted
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129.	 Hkkjr esa jk"Vªifr pquko ds laca/ esa fuEufyf•r 
dFku ij fopkj dhft, 
A.	 Hkkjr esa jk"Vªifr pquko ds fy, mEehnokj 

dks ukekafdr djus ds fy, de ls de 50 
çLrkodksa vkSj 50 vuqeksndksa dh vko';drk 
gksrh gSA

B.	 dsoy fuokZfpr lkaln vkSj fo/k;d gh 
jk"Vªifr pquko ds fy, fuokZpd eaMy dk 
xBu djrs gSaA

C.	 jk"Vªifr pquko esa fo/ku lHkk ds lnL; 
ds oksV dk ewY; jkT; dh tula[;k ij 
vk/kfjr gksrk gSA

D.	 Hkkjr esa jk"Vªifr pquko esa ,dy laØe.kh; 
ernku ç.kkyh dk mi;ksx fd;k tkrk gSA

	 lgh fodYi pqusa %
1.	 dsoy A] C vkSj D
2.	 dsoy B] C vkSj D
3.	 dsoy A] B vkSj C
4.	 lHkh lgh gSa
5.	 vuqÙkfjr ç'u

130.	 ^dsUæh; eaf=kifj"kn (CoM)* ds lanHkZ esa 
fuEufyf•r dFkuksa ij fopkj dhft,%
A.	 lafo/ku eaf=kifj"kn ds lnL;ksa dks fofHkUu 

Jsf.k;ksa esa oxhZÑr djrk gSA
B.	 Hkkjr dk lokZsPp U;k;ky; eaf=k;ksa }kjk 

jk"Vªifr dks nh xbZ lykg dh tkap dj 
ldrk gS

C.	 os yksdlHkk Hkax gksus ds ckn Hkh vius in 
ij cus jgrs gSaA

D.	 dsaæh; eaf=keaMy esa ç/kuea=kh@eq[;ea=kh 
lfgr eaf=k;ksa dh dqy la[;k yksdlHkk@jkT; 
fo/kulHkk dh dqy lnL; la[;k ds 15» 
rd lhfer gSA

	 lgh fodYi pqfu,%
1.	 dsoy A] B vkSj D
2.	 dsoy B vkSj D
3.	 dsoy C ,oa D
4.	 lHkh lgh gSa
5.	 vuqÙkfjr ç'u

131.	 jktLFkku f'k{kk foHkkx }kjk ̂ jhM Vw yhM* VSxykbu 
ds lkFk dkSu lk vfHk;ku 'kq: fd;k x;k\
1.	 lexz f'k{kk
2.	 ç•j jktLFkku

129.	 Consider the following statement with 
respect to the Presidential election in India.
A.	 At least 50 proposers and 50 seconders 

are required to nominate a candidate 
for the Presidential Election in India.

B.	 Only Elected MPs and MLAs 
constitute the Electoral College for the 
Presidential elections.

C.	  The value of a Member of Legislative 
Assembly's vote in the presidential 
election is based on the population of 
the state.

D.	 Single Transferable voting system is 
used in the presidential election in 
India.

Select the correct option:
1.	 A, C & D only
2.	 B, C & D only
3.	 A, B & C only 
4.	 All are correct 
5.	 Question not attempted

130.	 Consider the following statements with 
reference to the 'Central Council of 
Ministers (CoM)': 
A.	 The constitution classifies the members 

of a council of ministers into different 
ranks.

B.	 The Supreme Court of India can 
enquire into the advice tendered by the 
ministers to the President

C.	 They continue to remain in the office 
even after the dissolution of Lok Sabha. 

D.	 The total number of Ministers including 
PM/CM in the COM is limited to 15% 
of the total strength of the Lok Sabha/
State Legislative Assembly.

Select the correct options : 
1.	 A, B & D Only 
2.	 B & D Only 
3.	 C & D Only 
4.	 All are correct 
5.	 Question not attempted

131.	 Which campaign was launched by the 
Department of Education, Rajasthan, with 
the tagline 'Read to Lead'?
1.	 Samagra Siksha
2.	 Prakhar Rajasthan 



© Copyright:  	 www.nextias.com(42 – A)

RAS Prelims Test 2024

3.	 fuiq.k jktLFkku

4.	 mRd"kZ jktLFkku

5.	 vuqÙkfjr ç'u

132.	 jktLFkku ds lcls yEcs dk;Zdky okys eq[;eaf=k;ksa 
dks fuEufyf•r esa ls (vojksgh Øe esa)O;ofLFkr 
djsa%

1.	 eksguyky lq•kfM+;k] v'kksd xgyksr] olqa/

jk jkts] HkSjksa flag 'ks•kor

2.	 eksguyky lq•kfM+;k] v'kksd xgyksr] HkSjksa 

flag 'ks•kor] olqa/jk jkts

3.	 eksguyky lq•kfM+;k] v'kksd xgyksr] HkSjksa 

flag 'ks•kor] gfjnso tks'kh

4.	 eksguyky lq•kfM+;k] v'kksd xgyksr] gfjnso 

tks'kh] olqa/jk jkts

5.	 vuqÙkfjr ç'u

133.	 fuEufyf•r esa ls dkSu lk jktLFkku mPp U;k;ky; 
dk vkn'kZ okD; gS tSlk fd blds yksxks esa 
mfYyf•r gS\

1.	 lR;L; t;ksLrq

2.	 lR;eso t;rs

3.	 vonk fu tusH;%

4.	 yksdfgrkFkZ lR;fu"Bk
5.	 vuqÙkfjr ç'u

134.	 jktLFkku esa jk"Vªifr 'kklu ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj djsa% dkSu lk@ls lgh gS@gSa\
A.	 jktLFkku esa igyk jk"Vªifr 'kklu 13 ekpZ] 

1967 ls 26 vçSy] 1967 rd ykxw jgkA
B.	 ;g jk"Vªifr 'kklu lafo/ku ds vuqPNsn&356 

ds rgr jktLFkku esa jktuhfrd vfLFkjrk ds 
dkj.k yxk;k x;k FkkA

C.	 ekpZ] 1967 esa jkT;iky MkW- lEiw.kkZuUn 
us jk"Vªifr dks jktLFkku esa jk"Vªifr 'kklu 
yxkus dh lykg HksthA

D.	 ;g jktLFkku esa jk"Vªifr 'kklu dh lcls 
NksVh vof/ FkhA

	 lgh fodYi pqusa %
1.	 dsoy A] B vkSj C
2.	 dsoy A] C vkSj D
3.	 dsoy A] B vkSj D

3.	 Nipun Rajasthan
4.	 Utkarsh Rajasthan 
5.	 Question not attempted

132.	 Arrange the Chief Ministers of Rajasthan 
with the longest tenure (in descending 
order) from the following: 
1.	 Mohanlal Sukhadia, Ashok Gehlot, 

Vasundhara Raje, Bhairon Singh 
Shekhawat 

2.	 Mohanlal Sukhadia, Ashok Gehlot, 
Bhairon Singh Shekhawat, Vasundhara 
Raje 

3.	 Mohanlal Sukhadia, Ashok Gehlot, 
Bhairon Singh Shekhawat, Haridev 
Joshi 

4.	 Mohanlal Sukhadia, Ashok Gehlot, 
Haridev Joshi, Vasundhara Raje 

5.	 Question Not Attempted

133.	 Which among the following is the motto of 
the High court of Rajasthan as mentioned in 
its logo ?
1.	 Satyasya Jayostu
2.	 Satyameva Jayate
3.	 Avada Ni Janebhyah
4.	 Lokhitarth Satyanishtha
5.	 Question not attempted

134.	 Consider the following statements is/are 
correct in reference to President Rule in 
Rajasthan?
A.	 The first President’s rule in Rajasthan 

was in force from 13 March, 1967 to 
26 April, 1967.

B.	 This President’s rule was imposed due 
to political instability in Rajasthan 
under Article-356 of the Constitution.

C.	 In March, 1967, Governor Dr. 
Sampurnanand sent advice to the 
President to impose President’s rule in 
Rajasthan.

D.	 This was the Shortest period of the 
President's rule in Rajasthan.

Select Correct Option:
1.	 A, B & C Only 
2.	 A, C & D Only
3.	 A, B & D Only 
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4.	 lHkh lgh gSa
5.	 vuqÙkfjr ç'u

135.	 jktLFkku mPp U;k;ky; ds laca/ esa fuEufyf•r 
dFkuksa ij fopkj djsa%
A.	 jktLFkku jkT; ds mn~?kkVu ds le;] t;iqj] 

tks/iqj] chdkusj] mn;iqj vkSj vyoj esa 
ikap mPp U;k;ky; dk;Zjr FksA

B.	 jkT; iquxZBu vf/fu;e] 1956 dh /kjk 49 
ds rgr jktLFkku mPp U;k;ky; ds :i esa 
,d u;k mPp U;k;ky; vfLrRo esa vk;k] 
ftldh eq[; lhV tks/iqj esa FkhA

C.	 orZeku esa jktLFkku mPp U;k;ky; esa 
U;k;kèkh'kksa ds LohÑr in 50 gSaA

	 lgh fodYi pqusa %
1.	 dsoy A vkSj C
2.	 A] B vkSj C
3.	 dsoy A vkSj B
4.	 dsoy B vkSj C
5.	 vuqÙkfjr ç'u

136.	 jktLFkku jkT; fo/kulHkk esa fdruh lhVksa ij 
vuqlwfpr tkfr;ksa vkSj vuqlwfpr tutkfr;ksa dk 
çfrfuf/Ro vkjf{kr gS\
1.	 69
2.	 59
3.	 46
4.	 84
5.	 vuqÙkfjr ç'u

137.	 uhps fn, x, fodYiksa esa ls ml O;fDr dh 
igpku djsa ftlus dHkh jktLFkku fo/kulHkk esa 
foi{k ds usrk ds :i esa dk;Z ugha fd;k gS%
1.	 HkSjksa flag 'ks•kor
2.	 olqa/jk jkts
3.	 v'kksd xgyksr
4.	 Vhdkjke twyh
5.	 vuqÙkfjr ç'u

138.	 jkT; pquko vk;qDr (,lbZlh) ds laca/ esa 
fuEufyf•r dFkuksa ij fopkj djsa% 

	 dFku&I % mls jkT; ds jkT;iky }kjk in ls 
gVk;k tk ldrk gSA

	 dFku&II% lafo/ku esa çko/ku gS fd jkT; 
fuokZpu vk;qDr dks mlds in ls mPp U;k;ky; 
ds U;k;k/h'k ds leku rjhds vkSj leku vk/kj 
ij gh gVk;k tk ldrk gSA

4.	 All are correct 
5.	 Question not attempted

135.	 Consider the following statements regarding 
Rajasthan High Court:
A.	 During the inauguration of the State 

of Rajasthan, it had five High Courts 
functioning in Jaipur, Jodhpur, Bikaner, 
Udaipur, and Alwar.

B.	 Under section 49 of States 
Reorganization Act, 1956 a new High 
Court came into being as the High 
Court of Rajasthan with Principal Seat 
at Jodhpur.

C.	 At present, Rajasthan High Court has 
a sanctioned strength of 50 Hon’ble 
Judges.

Select the correct options : 
1.	 A & C only 
2.	 A, B & C 
3.	 A & B only 
4.	 B & C only 
5.	 Question not attempted

136.	 How many seats in Rajasthan state assembly 
have reserved representation from SCs & 
STs?
1.	 69
2.	 59
3.	 46
4.	 84
5.	 Question not attempted

137.	 Identify the individual who has never 
served as the Leader of Opposition in the 
Rajasthan Legislative Assembly from the 
options below : 
1.	 Bhairon Singh Shekhawat 
2.	 Vasundhara Raje 
3.	 Ashok Gehlot
4.	 Tikaram Jully
5.	 Question not attempted

138.	 Consider the following statements with 
regard to the State Election Commissioner 
(SEC):

	 Statement-I: S/he can be removed from 
office by the Governor of the state. 

	 Statement-II: The Constitution stipulates 
that the SEC cannot be removed from his/
her office except in like manner and on like 
grounds as a Judge of a High Court. 
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	 mi;ZqDr dFkuksa ds laca/ esa fuEufyf•r esa ls 
dkSu lk lgh gS\
1.	 dFku&I vkSj dFku&II nksuksa lgh gSa vkSj 

dFku&II dFku&I dk lgh Li"Vhdj.k gSA
2.	 dFku&I vkSj dFku&II nksuksa lgh gSa vkSj 

dFku&II] dFku&I dk lgh Li"Vhdj.k ugha 
gSA

3.	 dFku&I lgh gS ysfdu dFku&II xyr gSA
4.	 dFku&I xyr gS ysfdu dFku&II lgh gSA
5.	 vuqÙkfjr ç'u

139.	  jkT; foÙk vk;ksx ds laca/ esa fuEufyf•r dFkuksa 
ij fopkj dhft,%
A.	  ;g vuqPNsn 243 (vkbZ) ds rgr LFkkfir 

,d laoS/kfud fudk; gSA
B.	 jktLFkku esa igyk foÙk vk;ksx 24 vçSy 

1994 dks xfBr fd;k x;k Fkk vkSj igys 
vè;{k Ñ".k dqekj xks;y FksA

C.	 ghjkyky nsoiqjk] tks jktLFkku ds eq[;ea=kh 
Fks] jktLFkku jkT; foÙk vk;ksx ds vè;{k Hkh 
jg pqds gSaA

	 lgh dksM dk p;u djsa%
1.	 dsoy A vkSj C
2.	 dsoy A vkSj B
3.	 dsoy B vkSj C 
4.	 lHkh lgh gSa
5.	 vuqÙkfjr ç'u

140.	 jktLFkku esa 'kgjh LFkkuh; fudk;ksa ds laca/ esa 
fuEufyf•r esa ls dkSu lk@ls dFku xyr gS@gSa\
1.	 jktLFkku esa igyh uxj ikfydk o"kZ 1864 

esa ekmaV vkcw esa LFkkfir dh xbZ FkhA
2.	 Hkkjr esa uxj ikfydkvksa ds vè;{k ds pquko 

ds rjhds ds laca/ esa dkuwu cukus dh 'kfDr 
jkT; fo/kueaMy dks gSA

3.	 okMZ lfefr;ksa dk xBu ikap yk• ;k mlls 
vf/d tula[;k okyh uxjikfydk ds 
çknsf'kd {ks=k ds Hkhrj fd;k tkrk gSA

4.	 jkT; dk fo/kueaMy dkuwu }kjk dqN 
xSj&fuokZfpr O;fDr;ksa dks uxjikfydk ds 
lnL;ksa ds :i esa çfrfuf/Ro çnku dj 
ldrk gSA

5.	 vuqÙkfjr ç'u

	 Which one of the following is correct in 
respect of the above statements? 
1.	  Both Statement-I and Statement-II are 

correct and Statement-II is the correct 
explanation of Statement-I.

2.	 Both Statement-I and Statement-II 
are correct and Statement-II is not the 
correct explanation of Statement-I. 

3.	 Statement-I is correct but Statement-II 
is incorrect. 

4.	 Statement-I is incorrect but Statement-
II is correct.

5.	 Question not attempted

139.	 Consider the following statements regarding 
the State Finance Commission: 
A.	 It is a Constitutional body established 

under Article 243 (I) .
B.	 The first Finance Commission in 

Rajasthan was constituted on 24 April 
1994 & the first chairman was Krishna 
Kumar Goyal.

C.	 Hiralal Devpura, who was the Chief 
Minister of Rajasthan, has also been 
the Chairman of the Rajasthan State 
Finance Commission. 

Select the correct code:
1.	 A & C only 
2.	 A & B only 
3.	 B & C only 
4.	 All are correct
5.	 Question not attempted

140.	 Which of the following statements is/are 
incorrect with respect to the Urban Local 
Bodies in Rajasthan ?
1.	 The first municipality in Rajasthan was 

established in Mount Abu in the year 
1864.

2.	 The State Legislature has the power 
to make laws regarding the manner 
of election of the President of 
Municipalities in India.

3.	 Wards Committees are constituted 
within the territorial area of a 
Municipality having a population of 
Five lakhs or more.

4.	 Legislature of the state can provide 
for the representation of certain non-
elected individuals as members of the 
municipality by law.

5.	 Question not attempted
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141.	 ftyk dysDVj ds ckjs esa fuEufyf•r dFkuksa ij 
fopkj dhft, %
A.	 ftyk dysDVj dk dk;kZy; 1772 esa okWjsu 

gsfLVaXl }kjk cuk;k x;k FkkA
B	 og ftyk tux.kuk vf/dkjh ds :i esa dk;Z 

djrk gSA
C.	 og ukxfjd lqj{kk ls lacaf/r dk;Z laHkkyrk@

laHkkyrh gSA
D.	 og laln vkSj jkT; fo/kulHkk fuokZpu {ks=kksa 

ds pquko ds fy, fjVfuZax vf/dkjh ds :i 
esa dk;Z djrk gSA

	 lgh fodYi pqfu,%
1.	 dsoy A vkSj D
2.	 dsoy A] B vkSj D
3.	 dsoy A] C vkSj D
4.	 lHkh lgh gSa
5.	 vuqÙkfjr ç'u

142.	 iapk;rh jkt laLFkk ds 73osa lafo/ku la'kks/u 
vf/fu;e ds laca/ esa uhps fn, x, fuEufyf•r 
dFkuksa ij fopkj djsa%
A	 blus iapk;r dh vof/ 5 o"kZ lqfuf'pr 

dhA
B.	 xzke lHkk iapk;rh jkt O;oLFkk dh uhao gSA
C.	 ^xkao* dh ifjHkk"kk iapk;r lfpo }kjk 

fufnZ"V dh tkrh gSA
D.	 çR;{k pquko }kjk Hkjh tkus okyh iapk;rksa esa 

,d frgkbZ lhVsa efgykvksa ds fy, vkjf{kr 
gksuh pkfg,A

	 fn, x, fodYiksa esa ls lgh mÙkj pqfu,%
1.	 dsoy A] B vkSj D
2.	 dsoy A] C vkSj D
3.	 dsoy A] B vkSj C
4.	 lHkh lgh gSa
5.	 vuqÙkfjr ç'u

143.	 fuEufyf•r esa ls dkSu&lh Hkkjrh; la?kokn dh 
fo'ks"krk ugha gS\
1.	 la?k vkSj jkT;ksa dh 'kfDr;k¡ lafo/ku esa 

fufnZ"V gSaA
2.	 Hkkjrh; la?kokn 'kfDr;ksa ds dBksj i`FkDdj.k 

ds fl¼kar ij vk/kfjr gSA
3.	 U;k;ky; ljdkj ds fofHkUu Lrjksa ds lafo/ku 

vkSj 'kfDr;ksa dh O;k[;k dj ldrs gSaA

141.	 Consider the following statements about 
the District Collector :
A.	 The Office of District Collector was 

created in 1772 by Warren Hastings.
B.	 S/he acts as the district census officer.
C.	 S/he handles work pertaining to civil 

defence.
D.	 S/he acts as the Returning officer for 

election to parliament & state assembly 
constituencies.

Select the correct options : 
1.	 A & D Only 
2.	 A, B & D Only 
3.	 A, C & D Only 
4.	 All are correct 
5.	 Question not attempted

142.	 Consider the following statements give 
below regarding 73rd Constitutional 
Amendment Act of Panchayati Raj 
Institution : 
A.	 It assured the duration of Panchayat of 

5 years.
B.	 Gram sabha is the foundation of 

Panchayati Raj System.
C.	 The definition of a ‘Village’ is specified 

by the Panchayat secretary .
D.	 One-third of the seats in Panchayats 

that are filled by direct election must 
be reserved for women.

	 Select the Correct answer from the given 
options : 
1.	 A, B & D only 
2.	 A, C & D only 
3.	 A, B & C only 
4.	 All are correct 
5.	 Question not attempted

143.	 Which one of the following is not a feature 
of Indian Federalism ?
1.	 Powers of the Union and the states are 

specified in the constitution.
2.	 Indian federalism is based on the 

principle of strict separation of powers.
3.	 Courts can interpret the constitution 

and powers of different levels of the 
government.
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4.	 la?kh; bdkb;ksa dks jkT;lHkk esa vleku 

çfrfuf/Ro fn;k x;k gSA

5.	 vuqÙkfjr ç'u

144.	 LoPN ok;q loZs{k.k iqjLdkj&2024 ds lanHkZ esa 

fuEufyf•r dFkuksa ij fopkj dhft, &

A.	 ;g iqjLdkj ^varjkZ"Vªh; LoPN ok;q fnol* 

ij t;iqj esa vk;ksftr dk;ZØe esa fn;k x;k 

uhyk vkdk'kA

B.	 nl yk• ls vf/d vkcknh okys 'kgjksa esa 

bankSj (eè; çns'k) dks çFke LFkku fn;k 

x;kA

	 fn, x, fodYiksa esa ls lgh mÙkj pqusa%

1.	 dsoy A
2.	 dsoy B
3.	 nksuksa lgh gSa

4.	 dksbZ ugha

5.	 vuqÙkfjr ç'u

145.	 jktLFkku dk igyk fd'kksj u'kk eqfDr dsaæ fdl 

'kgj esa LFkkfir fd;k x;k gS\

1.	 t;iqj

2.	 vtesj

3.	 tks/iqj

4.	 dksVk

5.	 vuqÙkfjr ç'u

146.	 jlk;u foKku esa 2024 ds ukscsy iqjLdkj ds 

laca/ esa fuEufyf•r esa ls dkSu lk dFku lgh 

gS\

1.	 DokaVe MkWV~l dh •kst vkSj la'ys"k.k ds 

fy,A

2.	 dEI;wVs'kuy çksVhu fMtkbu vkSj çksVhu 

lajpuk Hkfo";ok.kh esa çxfr ds fy,A

3.	 ekbØksvkj,u, dh •kst vkSj thu fofu;eu 

esa bldh egRoiw.kZ Hkwfedk ds fy,A

4.	 fDyd jlk;u foKku vkSj ck;ksvkWFkkZsxksuy 

jlk;u foKku ds fodkl ds fy,A

5.	 vuqÙkfjr ç'u

4.	 The federating units have been given 
unequal representation in the rajya 
sabha.

5.	 Question not attempted

144.	 Consider the following statements with 
reference to Swachh Vayu Survekshan 
Award-2024.
A.	 This award was given in the program 

organized in Jaipur on the 'International 
Day of Clean Air for Blue Skies'.

B.	 Indore (Madhya Pradesh) was ranked 
first for cities with a population of over 
one million.

	 Select the Correct answer from the given 
options :
1.	 A only 
2.	 B only
3.	 Both are correct 
4.	 None
5.	 Question not attempted

145.	 In which city has the first Juvenile De-
addiction Center of Rajasthan been 
established ?
1.	 Jaipur
2.	 Ajmer
3.	 Jodhpur
4.	 Kota
5.	 Question not attempted

146.	 Which of the following statements is 
correct regarding the 2024 Nobel Prize in 
Chemistry?
1.	 For the discovery and synthesis of 

Quantum Dots.
2.	 For the computational protein design 

& advancements in protein structure 
prediction.

3.	 For the discovery of microRNA and its 
crucial role in gene regulation.

4.	 For the development of click chemistry 
and bioorthogonal chemistry.

5.	 Question not attempted
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147.	 jktLFkku ds fuEufyf•r ftyksa dks ou {ks=k ds 

varxZr {ks=k esa vf/dre deh (&) ds lanHkZ 

esa vojksgh Øe esa O;ofLFkr djsa (Hkkjrh; ou 

loZs{k.k }kjk Hkkjr ds ouksa ds 18osa f}okf"kZd 

ewY;kadu ISFR 2023 ds vuqlkj)%

1.	 çrkix<+ > ckjka > vtesj > chdkusj

2.	 ckjka > çrkix<+ > vtesj > chdkusj

3.	 ckjka > çrkix<+ > chdkusj > vtesj

4.	 çrkix<+ > chdkusj > ckjka > vtesj

5.	 vuqÙkfjr ç'u

148.	 Hkkjrh; ou loZs{k.k }kjk Hkkjr ds ouksa ds 18osa 

f}okf"kZd ewY;kadu ISFR 2023 ds lanHkZ esa 

fuEufyf•r dFkuksa ij fopkj dhft,%

A.	 vf/dre o`{k vkoj.k egkjk"Vª jkT; esa ik;k 

x;k gS] mlds ckn jktLFkku vkSj mÙkj çns'k 

dk LFkku gSA

B.	 orZeku vkdyu esa 156-41 fdeh2 dh o`f¼ 

n'kkZbZ xbZ gS fiNys vkdyu dh rqyuk esa 

jk"Vªh; Lrj ij ou {ks=k esa o`f¼ gqbZ gSA

C	 jkT;ksa esa Ñf"k okfudh esa lokZf/d o`f¼ 

egkjk"Vª esa ns•h xbZ gS] mlds ckn dukZVd] 

vksfM'kk vkSj jktLFkku dk LFkku gSA

	 fn, x, fodYiksa esa ls lgh mÙkj pqusa%

1.	 dsoy A vkSj B
2.	 dsoy B vkSj C 
3.	 dsoy A vkSj C
4.	 lHkh lgh gSa

5.	 vuqÙkfjr ç'u

149.	 Hkkjrh; laln }kjk vf/fu;fer ^u, vkijkf/d 

dkuwuksa* ds laca/ esa fuEufyf•r esa ls dkSu lk@

ls dFku lgh gS@gSa\

A.	 u;k vkijkf/d dkuwu ^Hkkjrh; U;k; lafgrk* 

(ch,u,l) 1 tqykbZ 2023 ls ykxw gqvkA

B.	 Hkkjrh; ukxfjd lqj{kk lafgrk (ch,u,l,l) 

us 1973 dh vkijkf/d çfØ;k lafgrk 

(lhvkjihlh) dks çfrLFkkfir dj fn;kA

147.	 Arrange the following Districts of Rajastahn 
in Descending order with reference to 
Maximum Decrease (–) in the Area under 
the Forest Cover (as per 18th biennial 
assessment ISFR 2023 of India’s forests by 
the Forest Survey of India) : 
1.	 Pratapgarh > Baran > Ajmer > Bikaner
2.	 Baran > Pratapgarh > Ajmer > Bikaner
3.	 Baran > Pratapgarh > Bikaner > Ajmer
4.	 Pratapgarh > Bikaner > Baran > Ajmer
5.	 Question not attempted

148.	 Consider the following statements in 
reference to the 18th biennial assessment 
ISFR 2023 of India’s forests by the Forest 
Survey of India:
A.	 The maximum tree cover has been 

found in the State of Maharashtra 
followed by Rajasthan and Uttar 
Pradesh.

B.	 The current assessment shows an 
increase of 156.41 km2 in the Forest 
Cover at national level as compared to 
the previous assessment.

C.	 Among the States, the highest growing 
stock in agroforestry is observed in 
Maharashtra followed by Karnataka, 
Odisha and Rajasthan.

	 Select the Correct answer from the given 
options :
1.	 A & B only
2.	 B & C only
3.	 A & C only
4.	 All are correct 
5.	 Question not attempted

149.	 Which of the following statements is/are 
correct in respect of 'New Criminal Laws' 
enacted by Indian Parliament? 
A.	 The new criminal law' Bharatiya Nyaya 

Sanhita' (BNS) came into effect from 1 
July 2023.

B.	 Bharatiya Nagarik Suraksha Sanhita 
(BNSS) replaced the Code of Criminal 
Procedure(CrPC) of 1973.
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C.	 Hkkjrh; lk{; vf/fu;e us bysDVªkWfud lk{; 
dh Lohdk;Zrk dks bl ckr ij cy nsrs gq, 
vuqefr nh fd bysDVªkWfud fjdkWMZ dk dkuwuh 
çHkko dkxth fjdkWMZ ds leku gh gksxkA

	 lgh fodYi pqusa%
1.	 dsoy A vkSj B
2.	 dsoy B vkSj C
3.	 dsoy A vkSj C
4.	 lHkh lgh gSa
5.	 vuqÙkfjr ç'u

150.	 Hkkjr esa ikbZ tkus okyh ,d&dwcM+ okyh vjch 
Å¡V çtkfr dks vkerkSj ij fdl uke ls tkuk 
tkrk gS\
1.	 cSfDVª;u
2.	 fodXuk
3.	 vYikdk
4.	 lk¡M+uh
5.	 vuqÙkfjr ç'u

C.	 Bharatiya Sakshya Adhiniyam allowed 
the admissibility of electronic evidence 
by underscoring that an electronic 
record shall have the same legal effect 
as paper records.

Select the correct option: 
1.	 A & B only
2.	 B & C only 
3.	 A & C only 
4.	 All are correct 
5.	 Question not attempted

150.	 Single-humped Arabian Camel species 
found in India, are commonly known as
1.	 Bactrian
2.	 Vicuna
3.	 Alpaca
4.	 Dromedary 
5.	 Question not attempted
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